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001. ®ðæÞ ¾zfíktºkLkk ¾zfku ßÞkt {¤e ykðu Au ík {÷kLke ûkuºk fÞk hkßÞ{kt ykðu÷ Au ?

(A) økwshkík (B) hksMÚkkLk

(C) {æÞ«Ëuþ (D) {nkhk»xÙ

002. f]»ýk LkËe yLku [uLLkE ðå[uLkku ¼køk fÞk Lkk{Úke yku¤¾kÞ Au ?

(A) LkÕ÷k{÷k xufheyku (B) þuðhkuÞ xufheyku

(C) Ãkk÷fkUzk xufheyku (D) fkUzkrðzw xufheyku

003. MkwçkýrMkrh, fk{Uøk yLku Mktfkuhk yu fE LkËeLke MknkÞf LkËeyku Au ?

(A) øktzf (B) çkúñÃkwºkk

(C) hªøkeík (D) fkuMke

004. Lke[u Ãkife fÞw Mkhkuðh ßðk¤k{w¾e MkhkuðhLkwt áüktík Au ?

(A) ÃkkuLøkkUøk íMkku (B) ðq÷h

(C) ÷kuLkkh (D) íMkku-{kuhehe

005. Vqx÷qÍ (Foot Loose) Wãkuøk yux÷u þwt ?

(A) yuðk Wãkuøkku su MÚkkLk rðþu»k MkkÚku òuzkÞu÷k / çktÄkÞu÷k LkÚke.

(B) yuðk Wãkuøkku su MÚkkLk rðþu»k MkkÚku Mktf¤kÞu÷k nkuðk Aíkkt çkeò MÚkkLk Ãkh rðMíkhý Ãkk{e þfu Au.

(C) yuðk Wãkuøkku fu su rðþu»k ðMíkwÚke òuzkÞu÷k Lk nkuÞ.

(D) WÃkh Ãkife yufÃký Lknª

006. RÂLzÞLk RLMxexâqx ykìV VkuhuMx {uLkus{uLx õÞkt ykðu÷e Au ?

(A) ËnuhkËqLk (B) ¼kuÃkk÷

(C) LkiLkeíkk÷ (D) Ãkqýu

007. zwøkkUøk (Dugong) þwt Au ?

(A) Mk{wÿe ½kMk (B) Ãkhðk¤k rîÃkLkku «fkh

(C) Mk{wÿe økkÞ (D) {uLøkúwð ðLkMÃkríkLkku «fkh

008. ¼khík{kt {Iøkúkuð ðLkûkuºk su ykðu÷ Au, íku rðïLkk {Iøkúkuð ûkuºkLkk fux÷k xfk Au ?
(A) 5 (B) 7

(C) 6 (D) 8

009. hk{ÃkË Mkkøkh ÞkusLkk fE LkËe Ãkh ykðu÷e Au ?

(A) f]»ýk (B) ½kx«¼k

(C) økkuËkðhe (D) íkwtøk¼ÿk

010. Lke[u ykÃku÷k rðÄkLkku [fkMke íkuLke Lke[u yÃku÷k rðfÕÃkku{ktÚke Mkk[ku sðkçk ykÃkku.

1. Ãkrù{e rðûkku¼, su ¼khík{kt XtzeLke Éíkw{kt Ãkrù{ íkÚkk W¥kh-Ãkrù{ çkkswÚke «ðuþ fhu Au.

2. Ãkrù{e rðûkku¼, ¼q{æÞ Mk{wÿ Ãkh WíÃkLLk ÚkkÞ Au.

3. W»ýfxeçktÄeÞ [¢ðkík çktøkk¤Lke ¾kze íkÚkk ®nË {nkMkkøkh{kt WíÃkLLk ÚkkÞ Au.

(A) rðÄkLk 1 Mkk[wt Au. (B) rðÄkLk 1 yLku 2 Mkk[k Au.

(C) rðÄkLk 1 yLku 3 Mkk[k Au. (D) rðÄkLk 1, 2 yLku 3 Mkk[k Au.
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001. In which state is the Malani field situated where the rocks of Vindhya rock system are found ?

(A) Gujarat (B) Rajasthan

(C) Madhya Pradesh (D) Maharashtra

002. By which name is the area between Chennai and the Krishna known ?

(A) The Nallamala Hills (B) The Shevaroy Hills

(C) The Palkonda Hills (D) The Kondaveedu Hills

003. The Subansiri, the Kameng, the Sankosh are the tributaries of which of the following rivers ?

(A) The Gandak (B) The Brahmaputra

(C) The Ringit (D) The Koshi

004. Which of the following is the Crater lake ?

(A) The Pongong TSO (B) The Wular

(C) The Lonar (D) The TSO - Moriri

005. What is “Foot Loose Industries” ?

(A) The Industries which are not associated with particular locations.

(B) The Industries which are associated with particular locations and yet can be developed in
other locations.

(C) Such Industries which are not associated with particular materials.

(D) None of the above.

006. Where is the Indian Institute of Forest Management located ?

(A) Dehradun (B) Bhopal

(C) Nainital (D) Pune

007. What is Dugong ?

(A) Marine grass (B) a type of coral reef

(C) Sea cow (D) a type of mangrove vegetation

008. India’s total Mangrove forest area forms ________ % of the world’s total Mangrove forest
area ?

(A) 5 (B) 7

(C) 6 (D) 8

009. With which river is the Rampad Sagar scheme associated ?

(A) Krushna (B) Ghat Prabha

(C) Godavari (D) Tungbhadra

010. Read the following statements and choose correct answer from options given below.

      (1) The Western disturbance enter India from the West and North western direction in winter.

      (2) The western disturbance is crated in the Mediterrean Sea.

      (3) The tropical cyclones are created in the Bay of Bengal and the Arabian Sea.

(A) Statement 1 is correct (B) Statements 1 and 2 are correct

(C) Statements 1 and 3 are correct (D) Statements 1, 2 and 3 are correct
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011. Ãkqýko LkËeLkwt WËTøk{MÚkkLk fÞwt Au ?

(A) ÃkªÃk¤LkuhLkk zwtøkh{ktÚke (B) zktøkLkk støk÷{ktÚke

(C) ðktMkËkLkk zwtøkh{ktÚke (D) Äh{ÃkwhLkk zwtøkh{ktÚke

012. ÷zk¾{kt “nur{Mk” «ÏÞkík Au, íku þwt Au ?

(A) {trËh (B) Ãkûke

(C) [[o (D) çkkiØ {X

013. “÷q”yu fÞk «fkhLkku ÃkðLk Au ?

(A) MÚkkÞe ÃkðLk (B) {kiMk{e ÃkðLk

(C) MÚkkrLkf ÃkðLk (D) WÃkh Ãkife yufÃký Lknª

014. økwshkík{kt ykðu÷k rsÕ÷kyku Ãkife fux÷k rsÕ÷kyku{kt {kºk [kh íkk÷wfkyku Au ?

(A) 4 (B) 5

(C) 6 (D) 3

015. ¼khíkLkk Ãkrù{ rfLkkhu ÃkkLkk{uõMk (PANAMAX) snkòu {kºk ............ çktËhu s ÷ktøkhe þfu Au.

(A) {wtÿk (B) {wtçkE

(C) {k{koøkkuðk (D) fku[e

016. økwshkík{kt y÷tøk Þkzo õÞkhÚke þY ÚkÞu÷ Au ?

(A) R.Mk. 1975 (B) R.Mk. 1980

(C) R.Mk. 1982 (D) R.Mk. 1985

017. økwshkík{kt MkkiÚke ðÄw rÃkÞík rðMíkkh ............ rsÕ÷k{kt Au yLku MkkiÚke ykuAku rðMíkkh ............ rsÕ÷k{kt Au.

(A) y{ËkðkË,  zktøk (B) {nuMkkýk,  zktøk

(C) ðzkuËhk,  ËknkuË (D) Mkwhík,  zktøk

018. økwshkík{kt Lke[u Ëþkoðu÷ MÚk¤ku Ãkife fÞk MÚk¤u {íMÞçkes WíÃkkËLk fuLÿ ykðu÷ LkÚke ?

(A) ÃkeÃkkuËhk (B) ÷ªøkzk

(C) yku¾k (D) Ãkk÷ý

019. Lke[u Ëþkoðu÷ rðfÕÃkku Ãkife fÞku rðfÕÃk Mkk[ku LkÚke ?

(A) zktøk rsÕ÷ku  -  çkhzeÃkkzkLkwt yÇÞkhÛÞ (B) ò{Lkøkh rsÕ÷ku - økkøkk yÇÞkhÛÞ

(C) hksfkux rsÕ÷ku - ®nøkku¤økZ yÇÞkhÛÞ (D) y{hu÷e rsÕ÷ku - hk{Ãkwhk yÇÞkhÛÞ

020. ÿkûkLkk WíÃkkËLk MktçktÄu rðï{kt ¼khíkLkku fux÷k{ku Lktçkh Au ?

(A) «Úk{ (B) çkeòu

(C) ºkeòu (D) Ãkkt[{ku

021. “Ítzk-Íq÷ý” MkkÚku fE f¤k òuzkÞu÷e Au ?

(A) ¼híkfk{ (B) Lkkxâ

(C) ¼ðkE (D) MÚkkÃkíÞ
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011. Where is the origin of the Purna river ?

(A) The mountains of Pimpalner (B) The Forests of the Dangs

(C) The Mountains of Vansada (D) The Mountains of Dharampur

012. What is ‘Hemis’ in Ladakh known for ?

(A) a temple (B) birds

(C) Church (D) a Buddhist Monestry

013. What type of wind is “Loo” ?

(A) Planetary wind (B) Seasonal wind

(C) Local wind (D) None of the above

014. How many districts of Gujarat are made up of only four talukas ?

(A) 4 (B) 5

(C) 6 (D) 3

015. In the West Coast of India, the Panamax ships can be anchored only at the ....... port.

(A) Mundra (B) Mumbai

(C) Marmagoa (D) Cochi

016. In which year the Alang ship yard started functioning ?

(A) 1975 (B) 1980

(C) 1982 (D) 1985

017. In Gujarat, the highest irrigated area is in ________ district and the lowest irrigated area is in
________ district.

(A) Ahmedabad, Dangs (B) Mehsana, Dangs

(C) Vadodara, Dahod (D) Surat, Dangs

018. In which of the following places there is no Fish seed production center ?

(A) Pipodara (B) Lingda

(C) Okha (D) Palan

019. Which of the following pairs is not correct ?

(A) Dangs - Bardipada Sanctuary (B) Jamnagar - Gaga Sacntuary

(C) Rajkot - Hingolgadh Sanctuary (D) Amreli - Rampura Sanctuary

020. In production of grapes, India is ranked at which position in the world ?

(A) First (B) Second

(C) Third (D) Fifth

021. Which of the following arts is associated with “Zanda - Zulan” ?

(A) Embroidary (B) Drama

(C) Bhavai (D) Architecture
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022. ¼khíkLkk {kuxk¼køkLkk «ÏÞkík yLku {æÞÞwøk{kt çktÄkÞu÷kt {trËhku ºký «fkhLke MÚkkÃkíÞ þi÷e Ähkðu Au. Lke[uLkk Ãkife fÞku
rðfÕÃk yk ºký rMkðkÞLke þi÷e Ëþkoðu Au ?

(A) Lkkøkh (B) ðuMkh

(C) ÿrðz (D) [iíÞ

023. MkkrníÞf]ríkyku ÃkhÚke Lk]íÞLkkrxfkyku íkiÞkh fhe ¼sðLkkh «ÏÞkík Lk]íÞ f÷kfkhLkwt Lkk{ þwt Au ?

(A) ¼kLkw yÚkiÞk (B) MkkuLk÷ {kLk®Mkøk

(C) MkwLke÷ fkuXkhe (D) fw{wrËLke ÷kr¾Þk

024. økwshkíkLkwt fÞwt íkeÚko Ãkqðuo çkkiØ íkeÚkoMÚk¤ níkwt yLku ÃkkA¤Úke siLk íkeÚko çkLÞwt Au ?

(A) ¼ÿuïh (B) nÂMíkrøkrh

(C) Ãkkr÷íkkýk (D) íkkhtøkk

025. rËÕneLkk Mkw÷íkkLkku{kt MkkiÚke ðÄw f÷k«u{e yLku MÚkkÃkíÞ rLk{koíkk fkuý níkku ?

(A) rVhkuÍþkn (B) þuhþkn

(C) fwíçkwÆeLk (D) s÷k÷wÆeLk

026. yÕ÷kÆeLk ¾e÷SLke økwshkík ÃkhLke [ZkELkwt ðýoLk fhíkku økútÚk fÞku Au ?

(A) Mkwhík Mktøkúk{ (B) hý{÷[rhík

(C) fkLnzËu «çktÄ (D) huðtíkrøkrh hkMkw

027. Lke[uLkk Ãkife fÞwt MktMf]ík {nkfkÔÞ LkÚke ?

(A) {u½Ëqík (B) rþþwÃkk÷ ðÄ

(C) rfhkíkkswoLkeÞ{T (D) fw{khMkt¼ð

028. Lke[u ykÃku÷k rðÄkLkku [fkMke íkuLke Lke[u yÃku÷k rðfÕÃkku{ktÚke Mkk[ku sðkçk ykÃkku.

          1. Ãkwr÷íÍh «kEÍ Ãkºkfkhíð ûkuºk{kt ykÃkðk{kt ykðu Au.

          2. f®÷øk yìðkuzo økrýíkþkMºk {kxu ykÃkðk{kt ykðu Au.

          3. çkku÷kuoøk (Bourlog) yìðkuzo rð¿kkLkLkk ûkuºk{kt ykÃkðk{kt ykðu Au.

(A) rðÄkLk 1 yLku 2 Mkk[k Au. (B) rðÄkLk 2 yLku 3 Mkk[k Au.

(C) rðÄkLk 1, 2 yLku 3 Mkk[k Au. (D) rðÄkLk 2 yLku 3 ¾kuxkt Au.

029. ÞkËe - y {kt «ÏÞkík Mktøkeíkðkãku yLku ÞkËe - çk {kt íkuLkk f÷kfkhkuLke rðøkíkLku ykÄkhu ÞkuøÞ rðfÕÃk ÃkMktË fhku.

y çk 

(a)  íkçk÷k                           (1)  nkVeÍ¾kLk

(b)  MkhkuË                           (2)  yuMk. çkk÷k[LÿLk

(c)  ðkÞkur÷Lk                           (3)  MkÃkLk [kiÄhe

(d)  ðeýk                           (4)  yu÷. Mkwçkú{ýeÞ{

(A)  a - 3,   b - 4,   c - 1,   d - 2 (B)  a - 2,   b - 1,   c - 4,   d - 3

(C)  a - 3,   b - 1,   c - 4,   d - 2 (D)  a - 4,   b - 2,   c - 1,   d - 3
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022. Most of the famous temples of India, including those built in the Medieval period, belong to
three types of architecture, which of the followings does not belong to them ?

(A) Nagar (B) Vesar

(C) Dravid (D) Chaitya

023. Which of the following famous dance artists has produced and performed in the ballets based
vaious literary works ?

(A) Bhanu Atheiya (B) Sonal Mansing

(C) Sunil Kothari (D) Kumudini Lakhiya

024. Which is that pilgrim place in Gujarat which was earlier a Buddhist pilgrim centre but later
became a Jain pilgrim centre ?

(A) Bhadreshwar (B) Hastgiri

(C) Palitana (D) Taranga

025. Of all the rulers of De lhi,  who among the  followings,  was the  grate st  lover of
art and architecture ?

(A) Firoz Shah (B) Sher Shah

(C) Kutbuddin (D) Jalaluddin

026. Which of the following books describes Allauddin Khilji’s aggression on Gujarat ?

(A) ‘Surat Sangram’ (B) ‘Ranmal Charit’

(C) ‘Kanhdde Prabandh’ (D) ‘Rewantgiri Rasu’

027. Which of the followings is not a Sanskrit epic ?

(A) Meghdoot (B) Shishupal Vadh

(C) Kiratarjuniyam (D) Kumar Sambhavam

028. Read the following statements and choose correct answer from options given below.

          (1) Pulitzer Prize is awarded in the field of journalism.

          (2) “Kaling Award” is given in the field of Mathematics.

          (3) “Bourlong Award” is given in the field of Science

(A) Statements 1 and 2 are correct (B) Statements 2 and 3 are correct

(C) Statements 1, 2 and 3 are correct (D) Statements 2 and 3 are wrong

029. Match the musical instruments in column ‘A’ with their respective artists given in column ‘B’

                      A                           B

             (a) Tabla              (1) Hafiz Khan

             (b) Sarod              (2) S. Balchandran

             (c) Violin              (3) Sopan Chaudhary

             (d) Veena              (4) L. Subramanium

(A)  a - 3,   b - 4,   c - 1,   d - 2 (B)  a - 2,   b - 1,   c - 4,   d - 3

(C)  a - 3,   b - 1,   c - 4,   d - 2 (D)  a - 4,   b - 2,   c - 1,   d - 3
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030. zktøke yLku [Bçkk ÷kufLk]íÞ fÞk hkßÞ{kt fhðk{kt ykðu Au ?

(A) Íkh¾tz (B) rn{k[÷ «Ëuþ

(C) W¥khk¾tz (D) A¥keMkøkZ

031. 2015Lkk ð»koLkku ¼khíkeÞ ¿kkLkÃkeX yìðkuzo Lke[uLkk{ktÚke fkuLku {¤u÷ Au ?

(A) h½wðeh [kiÄhe (B) «rík¼k hkÞ

(C) ¼k÷[Lÿ Lku{kzu (D) fuËkhLkkÚk ®Mk½

032. ðÕ÷{f÷e (Vallamkali)Lkku WíMkð fÞk hkßÞ{kt Wsððk{kt ykðu Au ?

(A) íkkr{÷Lkkzw (B) yktÄú«Ëuþ

(C) fuhk÷k (D) fýkoxf

033. y{eh ¾wþhkuLke f]rík ............ Au.

(A) Lkqn (B) íkkhe¾u rVhkusþkne

(C) Víkðk-yu-snktËkhe (D) ÃkË{kðík

034. ÃkLLkk÷k÷ ½ku»k fÞk ðkãðkËf níkk ?

(A) ðkÞkur÷Lk (B) ðktMk¤e

(C) rMkíkkh (D) íkçk÷k

035. {ÂÕ÷fk Mkkhk¼kE fÞk Lk]íÞLkk ¿kkíkk Au ?

(A) {kurnLke ykè{ (B) ¼khíkLkkxâ{T yLku {rýÃkwhe

(C) ¼híkLkkxâ{T yLku fw[eÃkwze (D) fÚkf

036. Mkku{LkkÚk {trËhLkku Lk]íÞ{tzÃk rMkðkÞLkku çkÄku ¼køk [k÷wõÞ ÞwøkLke ............ þi÷eLkku Au.

(A) Lkkøkh þi÷e (B) økkurÚkf þi÷e

(C) ík¤ÃkËk MÚkkÃkíÞ (D) RhkLke þi÷e

037. {nkhks ÷kÞçku÷ (Libel) fuMkLku Mkt÷øLk Mk{Þøkk¤ku fÞku níkku ?

(A) R.Mk. 1860 - 1863 (B) R.Mk. 1960 - 1961

(C) R.Mk. 1861 - 1862 (D) R.Mk. 1961 - 1963

038. Mkwhík{kt rðsÞ «kÃík fÞko çkkË yfçkhu økwshkíkLkk økðLkoh íkhefu fkuLke rLk{ýqf fhe níke ?

(A) ¾kLk-ykE-ykÍ{ yÍeÍ fkufk (Khan-i-Azam Aziz Koka)

(B) LkeÍk{wÆeLk yn{Ë

(C) {wLke{¾kLk

(D) yMkV¾kLk

039. rzÃkkxo{uLx ykìV ykuŠfÞku÷kuSf÷ yuLz yuÂLxõðuheÞLk (Antiquarian) MkðuoLke MÚkkÃkLkk R.Mk. 1881{kt ¼kðLkøkh
¾kíku fkuLkk îkhk fhðk{kt ykðu÷ níke?

(A) ¼kð®MknS (B) ík¾ík®MknS

(C) ð¾ík®MknS (D) sMkðtík®MknS
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030. In which state the folk dances of Dangee and Chamba are performed ?

(A) Jharkhand (B) Himachal Pradesh

(C) Uttarakhand (D) Chhattisgadh

031. Who among the followings was the recipient of the Jnanpith Award for 2015 ?

(A) Raghuvie Chaudhary (B) Pratibha Ray

(C) Bhalchandra Nemade (D) Kedarnath Singh

032. In which state is the Vallamkali Festival celebrated ?

(A) Tamil Nadu (B) Andhra Pradesh

(C) Kerala (D) Karnataka

033. Which of the following is written by Amir Khusro ?

(A) Nooh (B) Tarikhe Phiroz Shahi

(C) Fatwa - e - Jahandari (D) Padmavat

034. The legendary artist Pannalal Ghosh was associated with which instrument ?

(A) Violin (B) Flute

(C) Sitar (D) Tabla

035. Mallika Sarabhai is a known exponent of which of the following dance forms ?

(A) Mohini Attam (B) Bharatnatyam and Manipuri

(C) Bharatnatyam and Kuchipudi (D) Kathak

036. The whole of the Somnath temple, except its “Nrytya Mandap” is built in the style of ________
of the Chalukya Era.

(A) Nagar Style (B) Gothic Style

(C) Vernacular Style (D) Irani Style

037. The Maharaj Libel case belongs to which of the following time periods ?

(A) 1860 - 1863 (B) 1960 - 1961

(C) 1861 - 1862 (D) 1961 - 1963

038. Whom did Akbar appoint as Governor of Gujarat after winning Surat ?

(A) Khan - i - Azam Aziz Koka

(B) Nizamudding Ahmad

(C) Munim Khan

(D) Asaf Khan

039. Who among the following kings has been credited with the establishment of the Department of
Archeological and Antiquarian survey in 1881 ?

(A) Bhavsinhji (B) Takhatsinhji

(C) Vakhatsinhji (D) Jaswantsinhji
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040. Lke[u Ëþkoðu÷ þkþfkuLku fk¤¢{kLkwMkkh økkuXðeLku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. ¾tzuhkð økkÞfðkz 2. økku®ðËhkð økkÞfðkz

3. økýÃkíkhkð økkÞfðkz     4.  ykLktËhkð økkÞfðkz
(A)  2,  4,  3,  1 (B)  3,  1,  4,  2

(C)  4,  2,  3,  1 (D)  1,  3,  2,  4

041. MkhËkh ðÕ÷¼¼kE Ãkxu÷ îkhk ÃkkuhçktËh ¾kíku {nkí{k økktÄe feŠík{trËhLkwt WËT½kxLk õÞkhu fhðk{kt ykðu÷ níkwt ?

(A) R.Mk. 1947 (B) R.Mk. 1948

(C) R.Mk. 1949 (D) R.Mk. 1950

042. y{hu÷e{kt fÞk ð»ko{kt {¤u÷e ònuh Mk¼k{kt økktÄeSyu íkuykuLkk Ërûký ykr£fkLkk yLkw¼ðku ðýoÔÞkt ?

(A) R.Mk. 1915 (B) R.Mk. 1919

(C) R.Mk. 1922 (D) R.Mk. 1925

043. ðktËeðkþLke ÷zkE, 1760 (Wandiwash) {kt ytøkúus ÷~fhLkku f{kLzh fkuý níkku ?

(A) Mkh ßnkuLk ÷kuhuLMk (B) yuzr{h÷ ðkuxMkLk

(C) sLkh÷ ykÞh fqV (Eyre Coof) (D) fkWLx ze ÷u÷e

044. {ÿkMkLkku «Úk{ økðLkoh fkuý níkku ?

(A) VkuõMk ¢ku^x (Fox Croft) (B) økuhkÕz ykuÂLsÞh

(C) hkuçkxo õ÷kEð (D) ßÞkuso ykufMkuLzuLk (Oxenden)

045. ºkeS çkkiØ Mk¼k (Buddhist Council) õÞkt {¤u÷ níke ?

(A) hksøk]nk (B) Ãkkx÷eÃkwºk

(C) ðiþk÷e (D) fk~{eh

046. huøÞw÷uxªøk yuõx, 1773 ÃkkMk ÚkÞku yu Mk{Þøkk¤k{kt $ø÷uLzLkk ðzk«ÄkLk íkhefu fkuý níkwt ?

(A) ÷kuzo LkkuÚko (B) ÷kuzo {uÞku

(C) ÷kuzo yuõxLk (D) Mkh rðr÷Þ{ òuLMk

047. ÞkËe - y yLku ÞkËe - çk Lku ÞkuøÞ heíku òuzeLku Mkk[ku rðfÕÃk ÃkMktË fhku.

y çk 

(a)  «Úk{ yUø÷ku-{iMkwh ÞwØ (1)  xÙexe ykuV {Uø÷kuh

(b)  çkeswt yUø÷ku-{iMkwh ÞwØ (2)  xeÃkw Mkw÷íkkLkLkwt yðMkkLk

(c)  ºkeswt yUø÷ku-{iMkwh ÞwØ (3)  xÙexe ykuV {ÿkMk

(d)  [kuÚkwt yUø÷ku-{iMkwh ÞwØ (4)  xÙexe ykuV MkuhªøkÃkèLk{
(A)  a - 3,   b - 2,   c - 4,   d - 1 (B)  a - 3,   b - 4,   c - 1,   d - 2

(C)  a - 3,   b - 1,   c - 4,   d - 2 (D)  a - 2,   b - 3,   c - 1,   d - 4

048. økku®ðËk-ºkeòu íkÚkk y{ku½ð»kko Lkk{Lkk hksðeyku fÞk ðtþLkk níkk ?

(A) [k÷wõÞ (B) Ãkk÷

(C) økwsoh-«ríknkh (D) hk»xÙfwx
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040. Which option is correct in view of the chronology of the following rulers ?

 (1)  Khanderao Gaekwad  (2)  Govindrao Gaekwad

       (3)  Ganapatrao Gaekwad  (4)  Anandrao Gaekwad

(A) 2, 4, 3, 1 (B) 3, 1, 4, 2

(C) 4, 2, 3, 1 (D) 1, 3, 2, 4

041. In which year was the Kirti Mandir in Porbandar inaugurated by Sardar Vallabhbhai Patel ?

(A) 1947 (B) 1948

(C) 1949 (D) 1950

042. In which year had Gandhiji narrated his experiences of South Africa, in a public meeting held in
Amreli ?

(A) 1915 (B) 1919

(C) 1922 (D) 1925

043. Who was the commandor of the British Army during the Wandiwash war of 1760 ?

(A) Sir John Lawrence (B) Admiral Watson

(C) General Eyre Coof (D) Count De Lally

044. Who was the first Governor of Madras ?

(A) Fox Croft (B) Gerald Aungier

(C) Robert Clive (D) George Oxenden

045. Where was the third Buddhist council held ?

(A) Rajgruha (B) Pataliputra

(C) Vaishali (D) Kashmir

046. Who was the British Prime Minister when the Regulating Act, 1773 was passed ?

(A) Lord North (B) Lord Mayo

(C) Lord Acton (D) Sir Willian Jones

047. Choose correct options when you match the entries under column A with those under column B

       A  B

 (a) First Anglo - Maysore war  (1) Treaty of Manglore

 (b) Second Anglo - Maysore war   (2) Death of Tipu Sultan

  (c) Third Anglo - Mysore war   (3) Treaty of Madras

  (d) Fourth Anglo - Mysore war  (4) Treaty of Sering Pattanam

(A) a - 3, b - 2, c - 4, d - 1 (B) a - 3, b - 4, c - 1, d - 2

(C) a - 3, b - 1, c - 4, d - 2 (D) a - 2, b - 3, c - 1, d - 4

048. The King Govinda III and the King Amogh Varsha belonged to which Royal dynasty ?

(A) Chalukya (B) Pal

(C) Gurjar - Pratihar (D) Rashtrakut
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049. fÞk MkwÄkhk{kt ¼khíkLkk hksðeyku {kxu LkhuLÿ {tz¤ h[ðkLke Ëh¾kMík fhðk{kt ykðe níke ?

(A) R.Mk. 1909 Lkk {ku÷uo-r{Lxku MkwÄkhk{kt (B) R.Mk. 1919 Lkk {kuLxVzo MkwÄkhk{kt

(C) R.Mk. 1900 Lkk ÷kuzo {ufzkuLkkÕzLkk MkwÄkhk{kt (D) WÃkh Ãkife yufÃký Lknª

050. ð[økk¤kLke «Úk{ hk»xÙeÞ MkhfkhLke h[Lkk õÞkhu ÚkE níke ?

(A) 5{e MkÃxuBçkh, 1946 (B) 2S MkÃxuBçkh, 1946

(C) 2S ykuõxkuçkh, 1946 (D) 1÷e ykuøkMx, 1946

051. “÷tzLk RÂLzÞLk MkkuMkkÞxe” íkÚkk “RMx RÂLzÞLk yuMkkurMkÞuþLk” Lkk{Lke MktMÚkkLkk MÚkkÃkf fkuý níkk ?

(A) ~Þk{S f]»ý ð{ko (B) ÷k÷k ÷sÃkíkhkÞ

(C) ËkËk¼kE LkðhkuS (D) MkwhuLÿLkkÚk çkuLkhS

052. fÞk økðLkoh sLkh÷u Ëuþe ¼k»kkykuLkk ðíko{kLkÃkºkku Ãkh ytfwþku {qfíkku y¾çkkhe fkÞËku 1882{kt hË fÞkuo ?

(A) ÷kìzo rhÃkLk (B) ÷kìzo {uÞku

(C) ÷kìzo ÷exLk (D) ÷kìzo LkkuÚkoçkúuf

053. ¼khíkLku ykÃkðkLkk Mkqr[ík MkwÄkhkLkwt MðYÃk Lk¬e fhðk yhwLz÷ Mkr{ríkLke rLk{ýqf fÞk ð»ko{kt ÚkE níke ?

(A) R.Mk. 1908 (B) R.Mk. 1905

(C) R.Mk. 1907 (D) R.Mk. 1906

054. ¼khíkLkk økðLkoh sLkh÷ zu÷nkWMkeLke ¾k÷MkkLkerík nuX¤ - “fhsLke W½hkýe ík¤u” Lke[uLkk{ktÚke fkuý ¾k÷Mkk ÚkÞu÷
níkwt ?

(A) Mkíkkhk (B) ðhkz «ktík

(C) yðÄ (D) íkktòuh

055. ¼khík{kt ðuÃkkh fhðk Mkki«Úk{ fE «ò ykðe níke ?

(A) ÃkkuxwoøkeÍ (Vehtøke) (B) z[ (ð÷tËkyku)

(C) zurLkþ (zuL{kfoLke) (D) rçkúxeþ (ytøkúus)

056. ðu÷uM÷eLke MknkÞfkhe ÞkusLkk Lke[uLkk Ãkife fÞk hkßÞ-þkMkfu Mðefkhu÷ Lk níke ?

(A) nku÷fh (B) økkÞfðkz

(C) fýkoxf (D) {iMkwh

057. hk»xÙÃkrík fkuEÃký fkÞËkLkk y{÷{ktÚke {kuxk çktËhku yLku rð{kLk{ÚkfkuLku ònuhLkk{kÚke çkkfkík hk¾e þfu, íkuðe òuøkðkE
¼khíkLkk MktrðÄkLk{kt fÞk yLkwåAuË nuX¤ fhðk{kt ykðu÷ Au ?

(A) yLkwåAuË - 363 (B) yLkwåAuË - 363 f

(C) yLkwåAuË - 364 (D) yLkwåAuË - 365

058. Mkt½ yLku Ëhuf hkßÞ Mkhfkh, yLkwMkqr[ík òríkykuLku yMkh fhíke ík{k{ {níðLke Lkeríkrð»kÞf çkkçkíkku ytøku yLkwMkqr[ík
òríkyku {kxuLkk hk»xÙeÞ ykÞkuøk MkkÚku Ãkhk{þo fhþu íkuðe òuøkðkE ¼khíkLkk MktrðÄkLk{kt fÞk yLkwåAuË{kt fhðk{kt ykðe
Au ?

(A) yLkwåAuË - 335 (B) yLkwåAuË - 334

(C) yLkwåAuË - 338(4) (D) yLkwåAuË - 338(9)
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049. In which Reforms Act was the formation of ‘Narendra Mandal’ proposed ?

(A) Morle - Minto Reforms 1909 (B) Mont Ford Reforms 1919

(C) Lord Macdonald Amendment 1900 (D) None of the above

050. On which day was the first interim National Government formed ?

(A) 5th September 1946 (B) 2nd September 1946

(C) 2nd October 1946 (D) 1st August 1946

051. Who founded ‘London Indian Society’ and ‘East Indian Association’ ?

(A) Shyamji Krishna Varma (B) Lala Lajpatrai

(C) Dababhoi Navroji (D) Surendranath Benarjee

052. Who repealed the vernacular press Act in 1882 ?

(A) Lord Ripon (B) Lord Meyo

(C) Lord Lytton (D) Lord Northbrook

053. In which year was the Arundel committee on Political Reforms formed ?

(A) 1908 (B) 1905

(C) 1907 (D) 1906

054. Which of the following states was annexed on the pretext of ‘Collection of debt’ under Dalhousie’s
policy of Annexation ?

(A) Satara (B) Berar Province

(C) Awadh (D) Tanjore

055. Who came first in India for the purpose of business ?

(A) The Portuguese (B) the Dutch

(C) The Danish (D) The British

056. Which of the following states / rulers had not accepted Wellesley’s ‘Subsidiary Alliance’ scheme ?

(A) The Holkar (B) The Gaekwad

(C) Karnataka (D) Mysore

057. Which article of the Constitution provides for the authority to the president to issue Notification
to direct that any law shall not apply to any major port or aerodrom ?

(A) Article 363 (B) Article 363 A

(C) Article 364 (D) Article 365

058. Which article of the constitution requires the union government and the state governments to
discuss all the policy related matters pertaining to the SCs, with the National commission for the
schedule castes ?

(A) Article 335 (B) Article 334

(C) Article 338 (4) (D) Article 338 (9)
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059. suLku rðþu fkuE {tºkeyu rLkýoÞ ÷eÄku nkuÞ Ãký suLku rðþu {tºke{tz¤u rð[khýk fhe Lk nkuÞ íkuðe fkuE çkkçkík hkßÞÃkk÷
Vh{kðu íkku {tºke{tz¤Lke rð[khýk {kxu hsq fhðkLke hnuþu íkuðe òuøkðkE ¼khíkLkk MktrðÄkLk{kt fÞk yLkwåAuË nuX¤
fhðk{kt ykðe Au ?

(A) yLkwåAuË - 166 (B) yLkwåAuË - 167

(C) yLkwåAuË - 168 (D) yLkwåAuË - 177

060. økkÞ yLku ðkAhzkLke fík÷ ÃkhLkk «ríkçktÄLkwt Ãkøk÷wt yu çktÄkhýLke su òuøkðkELkk MkkÃkuûk{kt Au, íku òuøkðkE -

(A) yLkwåAuË - 51f (B) yLkwåAuË - 39f

(C) yLkwåAuË - 25 (D) yLkwåAuË - 48

061. ¼khíkLkk {wÏÞ LÞkÞ{qŠíkLkku nkuÆku ¾k÷e nkuÞ íÞkhu, fk{[÷kW {wÏÞ LÞkÞ{qŠíkLke rLk{ýqf rðþuLke òuøkðkE ¼khíkLkk
MktrðÄkLkLkk ........... yLkwåAuË{kt Ëþkoðu÷ Au.

(A) 141 (B) 126

(C) 127 (D) 124

062. fkuLke ¼÷k{ý rMkðkÞ, [qtxýe fr{~LkhLku nkuÆk ÃkhÚke Ëqh fhe þfkÞ Lknª ?

(A) {wÏÞ [qtxýe fr{~Lkh (B) ¼khíkLkk hk»xÙÃkrík

(C) MktMkË (D) ¼khíkLkk {wÏÞ LÞkÞ{qŠík

063. y - ÞkËe Lku çk - ÞkËe MkkÚku òuzeLku Mkk[ku rðfÕÃk ÃkMktË fhku.

y çk 

(a)  Mk{kLkíkkLkku nf (1)  yLkwåAuË - 25

(b)  þku»ký Mkk{uLkku nf (2)  yLkwåAuË - 14

(c)  MkktMfkrhf yLku þiûkrýf nfku (3)  yLkwåAuË - 23

(d)  Ä{oMðkíktºÞLkku nf (4)  yLkwåAuË - 29

(A)  a - 2,   b - 3,   c - 1,   d - 4 (B)  a - 2,   b - 3,   c - 4,   d - 1

(C)  a - 3,   b - 2,   c - 4,   d - 1 (D)  a - 1,   b - 3,   c - 2,   d - 4

064. Mkt½Lkk íku{s hkßÞkuLkk rnMkkçkku ¼khíkLkk rLkÞtºkf-{nk÷u¾k ÃkheûkfLke Mk÷knÚke ............ Xhkðu íkuðk Lk{qLkk{kt hk¾ðk{kt
ykðþu.

(A) MktMkË (B) Lkkýk {tºke

(C) Lkkýk Mkr[ð (D) hk»xÙÃkrík

065. hk»xÙÃkrík, hkßÞÃkk÷, Wå[ík{ LÞkÞk÷Þ íkÚkk Wå[ LÞkÞkrÄþkuLkk Ãkøkkh yLku ¼ÚÚkkLke òuøkðkE ¼khíkLkk MktrðÄkLk{kt
fÞk Ãkrhrþü{kt Ëþkoðu÷ Au ?

(A) Ãkrhrþü - 1 (B) Ãkrhrþü - 3

(C) Ãkrhrþü - 2 (D) Ãkrhrþü - 10

066. hkßÞMk¼k{kt Lke[u Ëþkoðu÷ hkßÞku Ãkife fÞk hkßÞLke çkuXfkuLke Vk¤ðýe MkkiÚke ðÄw Au ?

(A) fýkoxf (B) {æÞ«Ëuþ

(C) ykurzþk (D) fuh¤
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059. Which article of the constitution provides the authority to the Governor to order the council of
ministers of a state to consider the subject on which the respective minister has decided but
which has not been discussed by the council of ministers ?

(A) Article 166 (B) Article 167

(C) Article 168 (D) Article 177

060. The Act of  banning the slaughter of the cows and calves has reference to which
Article of the constitution ?

(A) Article 51 A (B) Article 39 A

(C) Article 25 (D) Article 48

061. Which article of the constitution provides for the appointment of ‘Acting Chief Justice’ when
the office of the Chief Justice of India is vacant ?

(A) Article 141 (B) Article 126

(C) Article 127 (D) Article 124

062. Without  whose  recommendation the Elec tion commissioner cannot  be removed
from his office ?

(A) Chief Election Commissioner (B) The President of India

(C) The Parliament (D) The Chief Justice of India

063. Choose correct option to match the entries under column ‘A’ with those under comumn ‘B’.

       A        B

 (a) Right to equality  (1) Article 25

   (b) Right against Exploitation        (2) Article 14

 (c) Cultural and Educational Rights        (3) Article 23

  (d) Right to freedom of Religion        (4) Article 29

(A) a - 2, b - 3, c - 1, d - 4 (B) a - 2, b - 3, c - 4, d - 1

(C) a - 3, b - 2, c - 4, d - 1 (D) a - 1, b - 3, c - 2, d - 4

064. On the advice of the CAG, the Accounts of the union and the State Governments shall be
maintained as per the format prescribed by the ________ .

(A) Parliament (B) Finance Minister

(C) Finance Secretary (D) President

065. Which Annexure to the constitution provides for the salary and Allowances of the President,
Governor and Judges of the High Courts and Supreme Court ?

(A) Annexure - 1 (B) Annexure - 3

(C) Annexure - 2 (D) Annexure - 10

066. Which of the following states has the highest number of seats in the Rajya Sabha ?

(A) Karnataka (B) Madhya Pradesh

(C) Odisha (D) Kerala
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067. Lke[u ykÃku÷k rðÄkLkku [fkMke íkuLke Lke[u yÃku÷k rðfÕÃkku{ktÚke Mkk[ku sðkçk ykÃkku.

1. Lkkýkt rðÄuÞf {kºk ÷kufMk¼k{kt hsq fhe þfkÞ Au.

2. hkßÞ Mk¼k Lkkýkt rðÄuÞfLkku Mðefkh fu MkwÄkhku fhðkLke Mk¥kk Ähkðíke LkÚke.

3. y{wf rðÄuÞf Lkkýk rðÄuÞf Au fu Lknª íku ÷kufMk¼kLkk yæÞûku Lk¬e fhðkLkwt nkuÞ Au.

(A) rðÄkLk 1 Mkk[wt Au. (B) rðÄkLk 1 yLku 3 Mkk[k Au.

(C) rðÄkLk 1, 2 yLku 3 Mkk[k Au. (D) rðÄkLk - 3 ¾kuxwt Au.

068. ¼khíkLkk MktrðÄkLkLke òuøkðkE ytíkøkoík yr¾÷ ¼khíkeÞ Mkuðkyku{kt ¼híke yLku rLk{kÞu÷e ÔÞÂõíkykuLke MkuðkLke þhíkkuLkwt
rLkÞ{Lk fkuý fhe þfþu ?

(A) {kLkð MktMkkÄLk furLÿÞ {tºke (B) ðzk«ÄkLk

(C) fuçkeLkux Mkr[ð (D) MktMkË

069. f - ÞkËe MkkÚku ¾ - ÞkËeLke rðøkík ÃkMktË fheLku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

f ¾ 

(a)  Mkt½ ÞkËe (1)  {íMÞ ûkuºkku

(b)  hkßÞ ÞkËe (2)  ðsLk yLku {kÃkLkk Äkuhýku MÚkkÃkðk

(c)  Mk{ðíkeo ÞkËe (3)  rð÷
(A)  a - 1,   b - 2,   c - 3 (B)  a - 2,   b - 1,   c - 3

(C)  a - 3,   b - 1,   c - 2 (D)  a - 3,   b - 2,   c - 1

070. ¼khíkLkk MktrðÄkLk{kt fE MkuðkykuLku MktMkËu Q¼e fhu÷e Mkuðkyku Au yu{ økýðk{kt ykðu÷ Au ?

(A) ¼khíkeÞ ðneðxe Mkuðk

(B) ¼khíkeÞ Ãkku÷eMk Mkuðk

(C) ¼khíkeÞ ðneðxe Mkuðk yLku ¼khíkeÞ Ãkku÷eMk Mkuðk

(D) ¼khíkeÞ ðLk Mkuðk

071. hk»xÙÃkríkLke [qtxýeLke heík ¼khíkLkk MktrðÄkLk{kt fÞk yLkwåAuË{kt ykÃkðk{kt ykðu÷ Au ?

(A) yLkwåAuË - 52 (B) yLkwåAuË - 53

(C) yLkwåAuË - 54 (D) yLkwåAuË - 55

072. Mkk{krsf yLku þiûkrýf heíku ÃkAkík ðøkkuoLke ÂMÚkríkLke íkÃkkMk fhðk {kxu hk»xÙÃkrík ykÞkuøkLke rLk{ýqf fhe þfþu íkuðe
òuøkðkE ¼khíkLkk MktrðÄkLk{kt fÞk yLkwåAuË{kt fhðk{kt ykðe Au ?

(A) yLkwåAuË - 340 (B) yLkwåAuË - 341

(C) yLkwåAuË - 337 (D) yLkwåAuË - 338

073. ¼khíkLkk MktrðÄkLkLke òuøkðkE nuX¤ yuxLkeo sLkh÷Lkwt {nuLkíkkýwt Lk¬e fhðkLke Mk¥kk fkuLke Au ?

(A) Wå[ík{ LÞkÞk÷Þ

(B) ðzk«ÄkLk

(C) hk»xÙÃkrík

(D) ¼khík MkhfkhLkwt rðrÄ yLku LÞkÞ {tºkk÷Þ
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067. Read the following statements and choose correct answer from options given below.

   (1) The finance bill can be presented only in the Lok Sabha.

 (2) The Rajya Sabha has no authority to receive or amend the finance bill.

  (3) The Speaker of the Lok Sabha decides whether a particular bill is a finance bill or
       not.

(A) Statement 1 is correct (B) Statements 1 and 3 are correct

(C) Statements 1, 2 and 3 are correct (D) Statement 3 is wrong

068. As per the constitutional provisions, who regulates the recruitment and conditions of the service
of the persons appointed to the All India Services ?

(A) The Union HRD Minister (B) The Prime Minister

(C) The Cabinate Secretary (D) The Parliament

069. Choose correct option to match the entries under column A with those given under column B

 A                B

  (a) Union List  (1) Fisheries

  (b) State List  (2) Standards of Weights and Measures

 (c) Concurrent List     (3) Will

(A) a - 1, b - 2, c - 3 (B) a - 2, b - 1, c - 3

(C) a - 3, b - 1, c - 2 (D) a - 3, b - 2, c - 1

070. As per the constitution, which of the following services are considered to have been created by
the Parliament ?

(A) Indian Administrative Service

(B) Indian Police Service

(C) Indian Administrative Service and Indian Police Service

(D) Indian Forest Service

071. Which Article of the Constitution contains the procedure of the election of the President ?

(A) Article 52 (B) Article 53

(C) Article 54 (D) Article 55

072. Which Article of the constitution vests the authority in the President to appoint a commission to
look into the conditions of the SEBCs ?

(A) Article 340 (B) Article 341

(C) Article 337 (D) Article 338

073. As per the constitution, who fixes the remuneration of the Attorney General ?

(A) The Supreme Court

(B) The Prime Minister

(C) The President

(D) The Law and Justice Ministry of the Government of India.
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074. yLkwMkqr[ík rðMíkkh{kt yLkwMkqr[ík ykrËòríkykuLkk MkÇÞkuLke s{eLkLke íkçkËe÷e rðþuLke òuøkðkE ¼khíkLkk MktrðÄkLk{kt
fE yLkwMkqr[{kt ykÃkðk{kt ykðu÷ Au ?

(A) Ãknu÷e (B) ºkeS

(C) [kuÚke (D) Ãkkt[{e

075. hkßÞ ònuh Mkuðk ykÞkuøkLkk MkÇÞLku íkuykuLkk ÃkË ÃkhÚke Ëqh fhðkLke (Remove) Mk¥kk ¼khíkLkk MktrðÄkLk nuX¤ fkuLku Au ?

(A) hkßÞÃkk÷ (B) hk»xÙÃkrík

(C) ðzk«ÄkLk (D) Mkwr«{ fkuxo

076. ÷kufMk¼kLke h[Lkk{kt fuLÿþkrMkík «ËuþkuLkk «ríkrLkrÄykuLke MktÏÞk ............ Úke ðÄw Lk nkuðe òuEyu.

(A) 10 (B) 16

(C) 20 (D) 18

077. A ÞwhkuÃkeÞLk Ëuþku îkhk fÞk ð»ko{kt “ÞwhkuÃkeÞLk fku÷ yuLz Mxe÷ fkuBÞwLkexe”Lke MÚkkÃkLkk ÚkE ?

(A) 1951 (B) 1947

(C) 1948 (D) 1950

078. 1967{kt Ãkkt[ Ëuþku îkhk çkUøkfkuf zuõ÷uhuþLk ÃkAe fE yktíkhhk»xÙeÞ MktMÚkkLke h[Lkk ÚkE ?

(A) Lkk^xk (NAFTA) (B) yuMkeÞLk (ASEAN)

(C) Mkkfo (SAARC) (D) MkkÃkxk (SAPTA)

079. Mkkfo (SAARC) {kt fux÷k Ëuþku Mkk{u÷ Au ?

(A) 6 (B) 7

(C) 8 (D) 9

080. 1991{kt Aêwt Mkkfo Mkr{x fÞk þnuh{kt ÞkuòÞwt ?

(A) fku÷Bçkku (B) rËÕne

(C) Zkfk (D) fhkt[e

081. ............ Lkwt 12{wt MkuþLk yu¢k, ½kLkk{kt 20 Úke 25 yu«e÷, 2008{kt ÞkuòÞwt.

(A) Mkkfo (SAARC) (B) MkkÃkxk (SAPTA)

(C) ytfxkz (UNCTAD) (D) Lkk^xk (NAFTA)

082. 1 òLÞwykhe, 1995Úke GATT .......... {kt Ãkheðíkeoík ÚkÞu÷.

(A) WTO (B) IMF

(C) IBRD (D) UNCTAD

083. fE çku yktíkhhk»xÙeÞ MktMÚkkyku çkúuxLkðwzTÍ xTðeLMk íkhefu yku¤¾kÞ Au ?

(A) IMF yLku WTO (B) IMF yLku IBRD

(C) SAPTA yLku NAFTA (D) SAARC yLku ASEAN

084. ¼khík{kt M3 ............ Au.

(A) Mktfw[eík Lkkýwt (B) Ã÷kMxef Lkkýwt

(C) rðMík]ík Lkkýwt (D) þk¾e Lkkýwt
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074. Which schedule of the constitution lays down the provisions regarding the transfer of land
belonging to a member of a scheduled Tribe in a scheduled area ?

(A) Schedule One (B) Schedule Three

(C) Schedule Four (D) Schedule Five

075. As per the constitution, who has the power to remove any member of the state public service
commission from his office ?

(A) The Governor (B) The President

(C) The Prime Minister (D) The Supreme Court

076. In the formation of the Lok Sabha, the number of the Representatives from the Union Territories
shall not exeed ________ .

(A) 10 (B) 16

(C) 20 (D) 180

077. In which year was “European Coal and Steel Community” established by six European countries?

(A) 1951 (B) 1947

(C) 1948 (D) 1950

078. Which international institution was formed by the Bangkok Declaration in 1967 by five
countries?

(A) NAFTA (B) ASEAN

(C) SAARC (D) SAPTA

079. How many countries are included in SAARC?

(A) Six (B) Seven

(C) Eight (D) Nine

080. In which city was, the sixth SAARC summit held in 1991?

(A) Colombo (B) Delhi

(C) Dhaka (D) Karachi

081. The twelfth session of ________ was held in Accra, Ghana from 20th to 25th April, 2008.

(A) SAARC (B) SAPTA

(C) UNCTAD (D) NAFTA

082. The GATT was transformed into ________ with effect from 1st January, 1995.

(A) WTO (B) IMF

(C) IBRD (D) UNCTAD

083. Which two international institutions are called as Brettonwood twins?

(A) IMF and WTO (B) IMF and IBRD

(C) SAPTA and NAFTA (D) SAARC and ASEAN

084. In India, M3 is ________ .

(A) Narrow money (B) Plastic money

(C) Broad money (D) Credit money
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085. Vwøkkðk ËhBÞkLk çkUf hux ............ òuEyu.

(A) MÚkeh hnuðku (B) ðÄðku

(C) ½xðku (D) WÃkh{ktLkwt yufÃký Lknª

086. MRTP Act Lkk MÚkkLku nðu ............ Au.

(A) xÙuz f{eþLk (B) VeMf÷ f{eþLk

(C) fkuBÃkexeþLk f{eþLk (D) {kuLkexhe f{eþLk

087. Lke[uLkk{ktÚke fÞku ÔÞkÃkkh[¢Lkku íkçk¬ku Ëþkoðu Au ?

(A) ÃkwLk:WíÚkkLk (B) {qzeðkË

(C) Mk{ksðkË (D) WÃkhLkk ík{k{

088. 1991Úke rðËuþ ÔÞkÃkkh LkeríkLkk MkwÄkhk ............ Lke íkhVuý fhu Au.

(A) çktÄ yÚkoíktºk (B) ykÞkík yðuSfhý

(C) ytík{wo¾e ÔÞqnh[Lkk (D) çkrn{wo¾e ÔÞqnh[Lkk

089. 1965{kt yuþeÞkLkk «Úk{ yuõMkÃkkuxo «kuMkuMkªøk ÍkuLkLke MÚkkÃkLkk ............ {kt ÚkE.

(A) ftz÷k (B) fku÷Bçkku

(C) Zkfk (D) fhkt[e

090. IBRD Lke MÚkkÃkLkk ............ Lkk ð»ko{kt ÚkE.

(A) 1947 (B) 1995

(C) 1991 (D) 1945

091. rLkøko{Lk Lkerík {wÏÞíðu ............ Lku Mkk{u÷ fhu Au.

(A) WãkuøkkuLkk ÃkhðkLkk LkkçkqËe (B) {ktËk yLku rçkLkfkÞoûk{ yuf{ku çktÄ fhðk

(C) Eòhkþkne ðuÃkkh «ð]r¥k (D) WÃkhLkk{kLkwt yufÃký Lknª

092. Lke[uLkk{kLkwt fÞwt ykŠÚkf ÃkØríkLkwt WËknhý Au ?

(A) ÷øLk (B) Ä{o

(C) {tËe (D) {qzeðkË

093. ßÞkhu fhk½kík yLku fhMktÃkkík yuf s ÔÞÂõík Ãkh Ãkzu íkuLku ............ fnu Au.

(A) «økíkeþe÷ ðuhku (B) MkeÄku ðuhku

(C) nÙeÞ{kLk ðuhku (D) ykzfíkhku ðuhku

094. “fhLkk Ëh”Lkk ykÄkhu fhLkku yuf «fkh ............ Au.

(A) Mk«{ký (B) MkeÄku

(C) ykzfíkhku (D) WÃkh{ktLkwt yufÃký Lknª

095. sÚÚkkLkk ykÄkhu ðMíkw Ãkh ÷kËðk{kt ykðu Au íkuLku ............ fnuðkÞ Au.

(A) yuzðu÷kuh{ ðuhku (B) MÃkuMkeVef (rðrþü) ðuhku

(C) Mk«{ký ðuhku (D) nÙeÞ{kLk ðuhku
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085. During inflation, the bank rate should be

(A) Kept constant (B) Increased

(C) Reduced (D) None of the above

086. The MRTP Act has been replaced by

(A) Trade commission (B) Fiscal commission

(C) Competition commission (D) Monetary commission

087. Which of the following refers to a stage of trade cycle?

(A) Recovery (B) Capitalism

(C) Socialism (D) All of the above

088. The foreign trade policy reforms, initiated since 1991, has led to a shift in favour of ________ .

(A) Closed economy (B) Import substitution

(C) Inward oriented strategy (D) Outward oriented strategy

089. Asia’s first export processing zone was set up in 1965 at

(A) Kandla (B) Colombo

(C) Dhaka (D) Karachi

090. The IBRD was established in the year ________ .

(A) 1947 (B) 1995

(C) 1991 (D) 1945

091. Exit policy mainly involves ________ .

(A) De-licensing of industries (B) Closure of sick and unviable units

(C) Monopolistic trade practices (D) None of the above

092. Which is an example of an economic system?

(A) Marriage (B) Religion

(C) Recession (D) Capitalism

093. When the impact and incidence of a tax fall on the same person, it is called ________ .

(A) Progressive tax (B) Direct tax

(C) Regressive tax (D) Indirect tax

094. Based on the “Rate of Tax”, one of the types of tax is________ .

(A) Proportional (B) Direct

(C) Indirect (D) None of the above

095. ________ is imposed on a commodity based on quantity.

(A) Advalorem tax (B) Specific tax

(C) Proportional tax (D) Regressive tax
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096. 1973-74{kt ykðfðuhkLkku MkkiÚke ðÄw Mke{kðíkeo Ëh ............ níkku.

(A) 90.00% (B) 97.75%

(C) 80.75% (D) 80.00%

097. ðirïfhý yLku {wõík ðuÃkkh ............ Lkk MkeÄk Ãkrhýk{ku Au.

(A) yktíkhhk»xÙeÞ ðuÃkkh ytøku hefkzkuoyu ykÃku÷ íkw÷Lkkí{f ¾[o íkVkðík rMkØktík

(B) nfMkh yLku ykun÷eLku ykÃku÷ MkkÄLk «{ký rMkØktík

(C) nuçkh÷hLkk yktíkhhk»xÙeÞ ðuÃkkh rMkØktík

(D) WÃkh{ktLkwt yufÃký Lknª

098. ßÞkhu RBI Lku Mkhfkhe ò{eLkøkeheyku ðu[eLku çkUfku RBI ÃkkMkuÚke Lkkýk WAeLkk ÷u íku ËhLku ............ fnu Au.

(A) heðMko huÃkku hux (B) fku÷ {Lke hux

(C) huÃkku hux (D) WÃkh{kLkwt yufÃký Lknª

099. Lke[uLkk{ktLkwt LkkýkfeÞ LkeríkLkwt MkeÄw yÚkðk Ãkrhýkí{f Ãkøk÷wt fÞwt Au ?

(A) {kSoLk ÃkØrík (B) Lkiríkf þkMkLk

(C) çkUf hux (D) fhðuhk

100. ............ LkkýkfeÞ LkeríkLkwt yuf ykzfíkY yÚkðk økwýkí{f Ãkøk÷wt Au.

(A) çkUf hux (B) ykuÃkLk {kfuox ykuÃkhuþLk

(C) yLkk{ík «{ký{kt VuhVkh (D) {kSoLk ÃkØrík

101. VwøkkðkLku LkkÚkðk RBI ............ LkkýktLkerík WÃkÞkuøk{kt ÷u Au.

(A) MkMíke (B) {kU½e

(C) økwýkí{f (D) Ãkrh{kýkí{f

102. ¼khík{kt Mkqr[ík {k÷ yLku Mkuðkyku ÃkhLkk fh (Goods and Services Tax)Lkk MktË¼o{kt Lke[uLkk{ktLkwt fÞwt rðÄkLk Mkk[wt
Au ?

(A) íku {k÷ yLku Mkuðk fu çktLkuLkk ðÃkhkþ WÃkhLkku ðuhku Au yLku Mkk{kLÞ heíku su søÞkyu ðÃkhkþ ÚkkÞ Au íku «ËuþLku yk ðuhku
{¤u Au.

(B) íku fuLÿ Mkhfkh îkhk ðMkq÷ fhðk{kt ykðþu, Ãkhtíkw hkßÞ Mkhfkh îkhk Lknª.

(C) hkßÞLke ytËh s Úkíkk Ëhuf ðu[ký Ãkh RLxeøkúuxuz økwzTMk yuLz MkŠðMkeÍ xuûk (IGST) ðMkq÷ðk{kt ykðþu.

(D) {k÷ WÃkh yuõMkkEÍ zâwxe yLku Mkuðkyku WÃkh Mkuðk fh ðMkq÷ðk{kt ykðþu.

103. ¼khíkLkk çktÄkhýLkk ykxeof÷ 366 (12A) {wsçk íku{kt ykÃku÷ Goods and Service Tax (GST)Lke ÔÞkÏÞk {wsçk
Lke[uLkk Ãkife fE ðMíkwLku yk fh{ktÚke çkkfkík hk¾ðk{kt ykðu÷ Au ?

(A) ÃkuxÙku÷

(B) {kLkð ðÃkhkþ {kxuLkku ykÕfkunku÷ef ÷efh (Alcoholic liquor for human consumption)

(C) nkE MÃkez zeÍ÷

(D) Lku[h÷ økuMk
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096. In 1973-74, the highest marginal rate of income tax was ________ .

(A) 90.00% (B) 97.75%

(C) 80.75% (D) 80%

097. Globalisation and free trade policy is a direct corollary of ________ .

(A) Comparative cost difference theory of international trade given by Ricardo.

(B) Factor Endowment theory given by Hechscher and Ohlin

(C) International trade theory given by Habarler

(D) None of the above

098. When banks borrow money from the RBI by selling government securities to the RBI, the rate
thereof is known as ________ .

(A) Reverse repo rate (B) Call money rate

(C) Repo rate (D) None of the above

099. Which of the following is one of the direct or quantitative measure of the monetary policy?

(A) Margin method (B) Moral suasion

(C) Bank rate (D) Taxation

100. ________ is one of the indirect or qualitative measures of monetary policy.

(A) Bank rate (B) Open market operation

(C) Variations in reserve ratios (D) Margin method

101. To combat inflation, RBI uses ________ money policy.

(A) Cheap (B) Dear

(C) Qualitative (D) Quantitative

102. Which of the following is correct with reference to proposed Goods and Services Tax (GST) in
India?

(A) It is a destination based tax on consumption of goods and services or both and it usually
accrues to the place where they are consumed.

(B) It is to be levied by the Central Government and not by the State government.

(C) Integrated Goods and Services Tax (IGST) will be payable on all intra-state supplies

(D) Excise duty will be payable on goods and services tax will be payable on services.

103. Which of the following products is kept out of purview of Goods and Services Tax (GST) in
terms of the definition of GST given in Article 366(12A) of the Constitution of India?

(A) Petrol

(B) Alcoholic liquor for human consumption

(C) High Speed Diesel

(D) Natural Gas
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104. Mkqr[ík GST fkÞËk yLkwMkkh rçkLk ÃktSf]ík (Not Registered) ÔÞÂõík îkhk ÃktSf]ík (Registered) ÔÞÂõíkLku Ãkqhk
Ãkkzðk{kt ykðíkk fhÃkkºk {k÷ fu Mkuðk fu çktLkuLkku fh Lke[uLkk Ãkife fkuLkk îkhk [qfððkÃkkºk Au ?

(A) {k÷ fu Mkuðk Ãkqhk ÃkkzLkkh

(B) {k÷Lkk xÙkLMÃkkuxoh

(C) {k÷ fu Mkuðk {u¤ðLkkh

(D) {k÷ fu Mkuðk Ãkqhku Ãkkzðk {kxu ykuzoh MðefkhLkkh

105. f]r»k fÕÞký MkuMk fhÃkkºk MkuðkykuLkk {qÕÞ WÃkh fÞk Ëhu ðMkw÷ fhðk{kt ykðu Au ?
(A) 14% (B) 15%

(C) 2% (D) 0.5%

106. fhÃkkºk MkuðkLkwt {qÕÞ Yk. 10,000 Au. Mkuðk fhLkku Ëh 14% Au. MðåA ¼khík MkuMkLkku Ëh 0.5% nkuÞ íkku MðåA ¼khík
MkuMkLke hf{ Lke[uLkk Ãkife fE Úkþu ?

(A) Yk. 1,400 (B) Yk. 50

(C) Yk. 57 (D) Yk. 7

107. MkuLxÙ÷ økwzTÍ yuLz MkðeoMkeÍ yuõx, 2017 nuX¤ ‘heðMko [kso’ yux÷u þwt ?

(A) {k÷ fu Mkuðk yÚkðk çktLkuLkku ÃkqhðXku {u¤ðLkkhLke xuûk ¼hðkLke sðkçkËkhe

(B) {k÷ fu Mkuðk yÚkðk çktLkuLkku ÃkqhðXku fhLkkhLke xuûk ¼hðkLke sðkçkËkhe

(C) ¾kuxe heíku ÷eÄu÷ ELkÃkwx xuûk ¢uzex heðMko fhðe.

(D) ¾kuxe heíku ðkÃkhu÷ ELkÃkwx xuûk ¢uzex heðMko fhðe.

108. RLMxexâwx ykìV [kxoz yufkWLxLxTMk ykuV RÂLzÞk (ICAI) îkhk çknkh ÃkzkÞu÷ ‘MxkufLkwt {qÕÞktfLk’ ytøkuLkwt rnMkkçke
Äkuhý-2 (AS-2)Lkk ykÄkhu ykÃku÷ ¾k÷e søÞk {kxu ÞkuøÞ sðkçk þkuÄku.

ßÞkhu MxkufLke Ãkzíkh ®f{ík íkuLke WÃksðk ÷kÞf [kuÏ¾e ®f{ík fhíkk ðÄw nkuÞ íÞkhu MxkufLkwt {qÕÞktfLk íkuLke ............ Úke
ÚkkÞ Au.

(A) [kuÏ¾e WÃksðk÷kÞf ®f{ík (B) Ãkzíkh ®f{ík

(C) WÃksðk ÷kÞf ®f{íkLkk ËkuZ økýk {qÕÞ (D) Ãkzíkh çkkË 10% {qÕÞ

109. rnMkkçke Äkuhý-7 (AS-7) {wsçk çkktÄfk{Lkk fhkhLke Ãkzíkh økýíke ð¾íku Lke[uLkk Ãkife fE ÃkzíkhLkku íku{kt Mk{kðuþ Úkíkku
LkÚke ?

(A) çkktÄfk{ {kxu ðkÃkhu÷ {k÷Mkk{kLkLke Ãkzíkh

(B) ¼kzu ÷eÄu÷ Ã÷kLx yLku ykuòhkuLke Ãkzíkh

(C) ðu[ký ¾[o

(D) fhkhLke MkkÚku MkeÄe heíku Mktf¤kÞu÷ zeÍkELk yLku xufLkef÷ ykMkeMxLMkLkku ¾[o

110. ßÞkhu ftÃkLkeLku rnMkkçke Äkuhý-17 (Ind. AS-17) ÷køkw Ãkzíkw nkuÞ íÞkhu Lke[uLkk Ãkife fÞwt rðÄkLk ¾kuxwt Au ?

(A) LkkýkfeÞ ÷eÍ nuX¤ {u¤ðu÷ r{÷fíkLku ÷eÍ Ãkh ÷uLkkh ÔÞÂõík r{÷fík íkhefu økýu Au.

(B) ykuÃkhuxªøk ÷eÍ{kt r{÷fík ¼kzu ykÃkLkkh r{÷fík Ãkh ½Mkkhku økýu Au.

(C) ykuÃkhuxªøk ÷eÍ{kt ¼kzu ykÃku÷ r{÷fíkLku ¼kzu ykÃkLkkh r{÷fík íkhefu økýu Au.

(D) r{÷fík LkkýkfeÞ ÷eÍ WÃkh ykÃkðk{kt ykðu íÞkhu ÷eÍ WÃkh ykÃkLkkh íkuLkk Ãkh ½Mkkhku økýu Au.
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104. Which of the following persons is liable to pay tax under proposed Goods and Services Tax
(GST) law when taxable goods or services or both are supplied by a non-registered person to a
registered person?

(A) Supplier of goods or services

(B) Transporter of goods

(C) Recipient of goods or services

(D) Person who accepts the order for supply of goods or services

105. At what rate is Krishi Kalyan Cess levied on value of taxable services?

(A) 14% (B) 15%

(C) 2% (D) 0.5%

106. Value of taxable service is Rs. 10000. Rate of Service tax is 14%. If rate of Swachh Bharat Cess
is 0.5%, which of the following will be the amount of Swachh Bharat Cess?

(A) Rs. 1400 (B) Rs. 50

(C) Rs. 57 (D) Rs. 7

107. What do you mean by ‘Reverse Charge’ under Central Goods and Services Act, 2017?

(A) Liability to pay tax by the recipient of Supply of goods or services or both.

(B) Liability to pay tax by the supplier of goods or services or both.

(C) Reversal of input tax credit wrongly availed.

(D) Reversal of input tax credit wrongly utilized.

108. Fill in the correct answer Based on AS-2 “Valuation of Inventories” issued by the ICAI.
Inventories are valued at ________ if cost of inventories is more than Net Realizable Value.

(A) Net Realizable Value (B) Cost price

(C) 1.5 times the Net Realizable Value (D) Cost less 10% Value

109. Which of the following costs are excluded from the costs of a construction contract as per
AS - 7 “Construction Contracts”?

(A) Cost of Materials used in construction

(B) Cost of hiring plant and equipment

(C) Selling Cost

(D) Costs of design and technical assistance that are directly related to the contract

110. Which of the following statement is false when Ind AS-17 is applicable to the given company?

(A) Under a finance lease, the lessee recognises an asset held under a finance lease.

(B) Under an operating lease, the lessor depreciates the asset.

(C) Under an operating lease, the lessor recognises an asset.

(D) Under a finance lease, the lessor depreciates the asset.
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111. ykÞkík fhðk{kt ykðíkk {k÷ WÃkh fMxBMk yuõx, 1962Lke f÷{ 12 nuX¤ ÷uðk{kt ykðíke çkuÍef fMx{ zâwxe WÃkhktík
ykðku {k÷ ¼khík{kt WíÃkkËLk fhðk{kt ykðu íkku íkuLkk Ãkh ÷uðk{kt ykðu íku ............ sux÷e s ðÄkhkLke zâwxe fMxBMk
xuheV yuõx, 1975 Lke f÷{ 3(1) nuX¤ ðMkw÷ðk{kt ykðu Au.

(A) yuõMkkEÍ zâwxe (B) VAT (Value Added Tax)

(C) ¢e»ke fÕÞký MkuMk (D) ykuõxÙkuÞ zâwxe

112. Mkk{kLÞ heíku fhËkíkk Ãkkuíku s yuõMkkEÍuçk÷ {k÷ WÃkh zâwxeLke ykfkhýe fhu Au. Ãkhtíkw, ............ {kxu {k÷ çknkh
fkZâk Ãknu÷k MkwÃkheLxuLzLx yÚkðk RLMÃkuõxh îkhk MkuLxÙ÷ yuõMkkEÍ YÕMk, 2002Lkk rLkÞ{ 6 yLkwMkkh ykðe ykfkhýe
fhðk{kt ykðu Au.

(A) ÃkuxÙku÷ (B) {kLkð ðÃkhkþ {kxuLkku ËkÁ

(C) Mkeøkkhux (D) økwx¾k

113. LkkLkk Wãkuøkku {kxu nk÷ ykçkfkhe sfkík (yuõMkkEÍ zâwxe)Lke {qÂõík ðkŠ»kf Yk. ............ Yk. ÷k¾Lkk {k÷Lk rLkfk÷
MkwÄeLke {ÞkoËk{kt yk ytøkuLkk ònuhLkk{kLke yLÞ þhíkkuLku ykÄeLk {¤e þfu Au.

(A) 400 (B) 150

(C) 200 (D) 250

114. Äe økwshkík R÷uõxÙeMkexe zâwxe yuõx, 1958 Lke òuøkðkE yLkwMkkh ‘yuLkSo’ yux÷u R÷uõxÙef÷ yuLkSo suLkwt WíÃkkËLk
fhðk{kt ykðu, su xÙkLMk{ex fhðk{kt ykðu, su Ãkqhe Ãkkzðk{kt ykðu fu su çkeò nuíkw {kxu ðÃkhkÞ Ãkhtíkw ............ {kxu nkuÞ
íkuLkku íku{kt Mk{kðuþ Úkíkku LkÚke.

(A) WãkuøkkuLkk ðÃkhkþ (B) ¾uíke {kxu ðÃkhkþ

(C) hnuýkfLkk ðÃkhkþ (D) xÙkLMk{eþLk ykuV {uMkus

115. yuf zku{uMxef ftÃkLkeLke fw÷ fhÃkkºk ykðf Yk. 10 ÷k¾ ykfkhýe ð»ko 2017-18 {kxu Au. yk ykðf WÃkh ykðf ðuhkLkku
Ëh 29% Au. yk ð»ko {kxu yk ftÃkLkeyu [qfððkLkku rþûký MkuMk (Education Cess) Yk. ............ Úkþu.

(A) 11,600 (B) 20,000

(C) 5,800 (D) 2,900

116. rLkðkMke Lkkøkrhf fu suLke ô{h ÃkkA÷k ð»ko Ëhr{ÞkLk 85 ð»ko níke íkuLkk {kxu ykfkhýe ð»ko 2017-18 {kxuLke ykðfðuhk
{qÂõík {ÞkoËk Yk. ............ Lke Au.

(A) 2,50,000 (B) 3,00,000

(C) 3,50,000 (D) 5,00,000

117. ¼khík{kt ykÞkík fhu÷ y{wf {k÷Lke CIF ®f{ík Y. 10 ÷k¾ Au. ÷uLzªøk [kSoMk 1% Au. yk {k÷ WÃkh çkuÍef fMx{
zâwxeLkku Ëh 10% Au. yk ykÞkík fhu÷ {k÷ suðku s {k÷ ¼khík{kt WíÃkkËLk fhðk{kt ykðu íkku íkuLkk Ãkh yuõMkkEÍ
zâwxeLkku Ëh 12.5% Au. yk {k÷ WÃkh fMxBMk xuheV yuõx, 1975Lke f÷{ 3(1) nuX¤ ðÄkhkLke zâwxeLkk hf{ fux÷k
Úkþu ?

(A) Yk. 1,00,000 (B) Yk. 1,01,000

(C) Yk. 1,38,875 (D) Y. 1,25,000

118. hkufz ytËksÃkºk{kt Lke[uLkk{ktÚke fE rðøkík Ëþkoððk{kt ykðu Au ?

(A) ÃkkA÷k ð»ko{kt ÷kuLk îkhk WAeLke ÷eÄu÷ hf{

(B) ð»ko Ëhr{ÞkLk Aqxk ÚkÞu÷ fk{ËkhkuLke MktÏÞk

(C) ¼rð»ÞLkk Lk¬e fhu÷ Mk{Þ Ëhr{ÞkLk ytËkrsík hkufzLke ykðf yLku òðf

(D) økÞk {rnLkk{kt s{eLkLke ¾heËe {kxu [qfðu÷ hkufz
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111. In addition to basic customs duty leviable under section 12 of the Customs Act, 1962, an additional
duty equal to the ________ leviable on like goods produced or manufactured in India is also
levied on imported goods under section 3(1) of the Customs Tariff Act, 1975.

(A) Excise duty (B) VAT (Value Added Tax)

(C) Krishi Kalyan Cess (D) Octroi duty

112. Usually, assessee has to himself assess the duty payable on excisable goods. However, in the case
of ________, the Superintendent/Inspector of Central Excise shall assess the duty Payable before
removal of goods in terms of Rule 6 of Central Excise Rules, 2002.

(A) Petrol (B) Alcohol for human consumption

(C) Cigarettes (D) Gutkha

113. Small-scale excise exemption is currently available to a Manufacturer unit upto clearance of
Rs. ________ lakhs per financial year subject to satisfaction of all the conditions laid down in
small scale exemption notification.

(A) 400 (B) 150

(C) 200 (D) 250

114. In terms of provisions of The Gujarat Electricity Duty Act, 1958, “energy” means electrical
energy when generated, transmitted, supplied or used for any purpose except for ________.

(A) Use in industry (B) Use in agriculture

(C) Use for residence (D) Transmission of a message

115. A domestic company has taxable total income of Rs. 10 lakhs for Assessment year 2017-18.
The rate of income tax thereon is 29%. Education Cess payable by this company for this  year
will be Rs. ________ .

(A) 11600 (B) 20000

(C) 5800 (D) 2900

116. For resident individual whose age in the previous year was 85 years, income tax exemption limit
for Assessment Year 2017-18 is Rs. ________ .

(A) 250000 (B) 300000

(C) 350000 (D) 500000

117. CIF Value of some goods imported into India is Rs. 1000000. Landing charges are 1%. Rate of basic
customs duty on these goods is 10%. Rate of excise duty on imported goods, if manufactured in
India, is 12.5%. How much will be additional duty of customs leviable under section 3(1) of the
Customs Tariff Act, 1975 on these imported goods?

(A) Rs. 100000 (B) Rs. 101000

(C) Rs. 138875 (D) Rs. 125000

118. Which of the following particulars is shown in the Cash Budget?

(A) Amount borrowed as loan in the previous year.

(B) No. of employees retired during the year.

(C) Estimated receipts and payments of cash over the specified future period.

(D) Cash paid for purchase of land in last month.
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119. ¼køkeËkheLkk fkÞËk nuX¤ ‘hSMxÙkh ykìV VBMko’Lke rLk{ýqf ònuhLkk{k îkhk fkuLkk îkhk ÚkE þfu Au ?

(A) fuLÿ Mkhfkh (B) hk»xÙÃkrík

(C) [uhexe fr{~Lkh (D) hkßÞ Mkhfkh

120. økwshkík {qÕÞ ðÄkhk ðuhk fkÞËk nuX¤ Lke[uLkk Ãkife fÞk xLkoykuðh {kxu ðuhku ¼hðkLke sðkçkËkhe Úkþu ?

(A) fw÷ xLkoykuðh Yk. 4,90,000

(B) fw÷ xLkoykuðh Yk. 10,00,000 su Ãkife fhÃkkºk xLkoykuðh Yk. 5,000

(C) fw÷ xLkoykuðh Yk. 6,00,000 su Ãkife fhÃkkºk xLkoykuðh Yk. 15,000

(D) fw÷ xLkoykuðh Yk. 15,00,000 su Ãkife fhÃkkºk xLkoykuðh Yk. 0

121. økwshkík {qÕÞ ðÄkhk ðuhk fkÞËk nuX¤ Lke[uLkk Ãkife fÞk ðu[ký {kxu ðuhku ¼hðkLke sðkçkËkhe Úkþu ?

(A) yktíkh-hkßÞ ðu[ký (B) hkßÞ çknkhLkk ðu[ký

(C) ¼khík çknkh rLkfkMk fhu÷ {k÷Lkk ðu[ký (D) økwshkík hkßÞ{kt fhu÷ ðu[ký

122. yrLk÷ rçk{÷Lku Yk. 50,000 Lkku {k÷ ðu[u Au yLku yk {k÷ WÃkh økwshkík {qÕÞ ð]ÂæÄ ðuhk fkÞËk nuX¤ 15% fh
¼hðkÃkkºk Au. yk {k÷Lkk Ãkufªøk {kxu Yk. 1,000 Lkwt Ãkufªøk {xeheÞ÷ yrLk÷ ðkÃkhu Au. Ãkufªøk {xeheÞ÷ WÃkh ðuhkLkku
Ëh 5% Au. yrLk÷ yk {k÷ Ãkufªøk fheLku ÃkAe s ðu[u Au yLku çke÷{kt {k÷Lkk Yk. 50,000 WÃkhktík Ãkufªøk {xeheÞ÷Lkk
Yk. 1,000 swËk çkíkkðe íkuLkk WÃkh ðuhku ÷økkðu Au. ynª fw÷ ðuhkLke hf{ Yk. ............ Úkþu.

(A) 7,500 (B) 7,650

(C) 7,550 (D) 2,550

123. ¼khíkeÞ fhkh Äkhk, 1872Lke òuøkðkEyku Lke[uLkk Ãkife fÞk «Ëuþ{kt ÷køkw Ãkzu Au ?

(A) yk¾k ¼khík{kt

(B) Võík økwshkík{kt

(C) økwshkík rMkðkÞLkk yk¾k ¼khík{kt

(D) sB{w yLku fk~{eh rMkðkÞLkk yk¾k ¼khík{kt

124. hksuþ fu suLkwt ÄtÄkLkwt MÚk¤ ò{Lkøkh{kt Au. íku y{ËkðkËLke yuf WíÃkkËf ÃkuZe ÃkkMkuÚke ¾heËu÷ {k÷ ßÞkhu hksfkuxLke
çkeS ÃkuZeLku ðu[u íÞkhu íkuýu íkuLkk WÃkh Lke[uLkk Ãkife fÞku ðuhku ¼hðkLke sðkçkËkhe WÃkÂMÚkík ÚkkÞ ?

(A) ykçkfkhe sfkík (B) MkŠðMk xuûk

(C) fMx{ zâwxe (D) økwshkík {qÕÞ ðŠÄík ðuhku

125. ðu[ký ¾ík îkhk fkuE MÚkkðh r{÷fík ðu[ðk{kt ykðu íÞkhu Lke[uLkk Ãkife fE zâwxe ¼hðkLke sðkçkËkhe ÚkkÞ Au ?

(A) fMx{ zâwxe (B) MxuBÃk zâwxe

(C) E÷uõxÙeMkexe zâwxe (D) yuõMkkEÍ zâwxe (ykçkfkhe sfkík)

126. MkuLkðux ¢uzex YÕMk, 2004 nuX¤ ............ {kxu WíÃkkËLk{kt ðÃkhkÞu÷ fk[k {k÷ WÃkhLkk ðuhkLke ¢uzex {¤ðkÃkkºk LkÚke.

(A) fh{wõík ytrík{ WíÃkkËLk

(B) fhÃkkºk ytrík{ WíÃkkËLk

(C) ytrík{ WíÃkkËLk su zâwxe ¼Þko ðøkh ¼khík çknkh rLkfkMk fhðk{kt ykðu Au.

(D) {Vík MkuBÃk÷ ykÃkðk {kxu WíÃkkËeík {k÷
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119. Under Partnership Act, who can appoint Registrar of Firms by a notification?

(A) Central Government (B) President

(C) Charity Commissioner (D) State Government

120. Under Gujarat Value Added Tax Act, for which of the following turnover will there be liability
to pay tax?

(A) Total turnover of Rs. 490000

(B) Total turnover of Rs. 10 lakhs of which taxable turnover Rs. 5000

(C) Total turnover Rs. 6 lakhs of which taxable turnover Rs. 15000

(D) Total turnover Rs. 15 lakhs of which taxable turnover Rs. 0.

121. Which of the following sales will be liable for payment of tax under Gujarat Value Added Tax
Act?

(A) Inter-State Sale (B) Sale outside the State

(C) Sale of goods exported outside India (D) Sale within Gujarat State

122. Anil sells goods of Rs. 50000 to Bimal and rate of tax payable on these goods under Gujarat
Value Added Tax Act is 15%. Anil uses packing material of Rs. 1000 for packing these goods.
Rate of tax on packing material is 5%. Anil sells these goods only after packing and he charges
in his bill Rs. 50000 for goods, Rs. 1000 for packing material plus tax. In this case, total amount
of tax will be Rs. ________ .

(A) 7500 (B) 7650

(C) 7550 (D) 2550

123. To which of the following areas are the provisions of the Indian Contract Act, 1872 applicable?

(A) Whole of India

(B) Only in Gujarat

(C) Whole of India except the State of Gujarat

(D) Whole of India except the State of Jammu and Kashmir

124. Which of the following tax or duty shall be payable by Rajesh located in Jamnagar when he
purchases manufactured goods from a firm of Ahmedabad and sells the same to a firm in
Rajkot?

(A) Central Excise Duty (B) Service Tax

(C) Customs Duty (D) Gujarat Value Added Tax

125. Which of the following duty is payable when an immovable property is sold by execution of sale
deed?

(A) Customs duty (B) Stamp duty

(C) Electricity duty (D) Excise duty

126. CENVAT Credit is not allowable under CENVAT Credit Rules, 2004 in respect of tax paid on
inputs used in manufacture of ________ .

(A) Exempt final product

(B) Taxable final product

(C) Final product which is exported without payment of duty

(D) Goods meant for distribution as free samples
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127. røkÕxyuÍTz çkòh yux÷u ............ .

(A) Mkhfkhe ò{eLkøkeheykuLkwt çkòh (B) MkkuLkkLkwt çkòh

(C) çkw÷eÞLk çkòh (D) ÄkíkwykuLkwt çkòh

128. Íehku huxuz {k÷Lkk MktË¼o{kt RLkÃkwx xuûk ¢uzex ............ ßÞkhu fh{wõík {k÷Lkk MktË¼o{kt RLkÃkwx xuûk ¢uzex ............ .

(A) {¤u, {¤u (B) {¤u, Lkk {¤u

(C) Lkk {¤u, Lkk {¤u (D) Lkk {¤u, {¤u

129. Mkqr[ík GST fkÞËk nuX¤ Lke[uLkk Ãkife fÞk MkÃ÷kÞhLku fkuBÃkkuÍeþLk ÞkusLkkLkku ÷k¼ {¤e þfu ?

(A) su MkÃ÷kÞh hkßÞ{kt s {k÷ fu rLkŠËü MkuðkLkku ÃkqhðXku fhu yLku íkuLkwt xLkoykuðh rLkÄkorhík {ÞkoËk{kt nkuÞ.

(B) çÞwxe Ãkk÷ohLke Mkuðk ykÃkíkk nkuÞ íkuLku

(C) su yLÞ hkßÞ{kt {k÷Lkku ÃkqhðXku ykÃkíkk nkuÞ íkuLku

(D) su R÷uõxÙkuLkef fku{Mko ykuÃkhuxh îkhk {k÷ Ãkqhku Ãkkzíkk nkuÞ íkuLku

130. ykÞkík fhu÷ {k÷Lke fMx{ zâwxe {kxuLkwt ykfkhýe {qÕÞ økýðk {kxu ÷uLzªøk [kSoMk nt{uþk ............ Lkk 1% ÷u¾u
økýðk{kt ykðu Au.

(A) FOB {qÕÞ (B) C & F {qÕÞ

(C) CIF {qÕÞ (D) WÃkhLkk{ktÚke yufÃký Lknª

131. fMx{ zâwxe {kxuLkwt ykfkhýe {qÕÞ Lk¬e fhðk {kxu fÞku rðLke{Þ Ëh æÞkLk{kt ÷uðk{kt ykðu Au ?

(A) SBI îkhk Lk¬e fhðk{kt ykðu÷ rðLke{Þ Ëh (B) RBI îkhk Lk¬e fhðk{kt ykðu÷ rðLke{Þ Ëh

(C) CBEC îkhk Mkqr[ík rðLke{Þ Ëh (D) WÃkhLkk{ktÚke yufÃký Lknª

132. økwshkík{kt R÷uõxÙeMkexe zâwxe fÞk fkÞËk nuX¤ yufºk fhðk{kt ykðu Au ?

(A) økwshkík R÷uõxÙeMkexe zâwxe yuõx, 1961 (B) økwshkík R÷uõxÙeMkexe zâwxe yuõx, 2003

(C) økwshkík R÷uõxÙeMkexe zâwxe yuõx, 1964 (D) økwshkík R÷uõxÙeMkexe zâwxe yuõx, 1958

133. MkuLxÙ÷ økwzTÍ yuLz MkŠðMkeÍ yuõx, 2017Lke òuøkðkE «{kýu {¤íke IGST ðuhk þk¾ (Input Tax Credit)Lkku WÃkÞkuøk
fuðe heíku ÚkE þfu ?

(A) Võík SGST ¼hðk {kxu

(B) Võík SGST yÚkðk CGST ¼hðk {kxu

(C) IGST ¼hðk {kxu y™u ðÄu íkku CGST ¼hðk {kxu yLku íÞkhçkkË ðÄu íkku SGST ¼hðk {kxu

(D) Võík IGST ¼hðk {kxu

134. CGST Act Lke f÷{ 39(1)Lke òuøkðkE yLkwMkkh {krMkf hexLko VkE÷ fhðkLke AuÕ÷e íkkhe¾ ÃkAeLkk {neLkkLke
.............. íkkhe¾ Au. yk hexLko GSTR-3 Lkk Lk{qLkk{kt VkE÷ fhðkLkwt nkuÞ Au.

(A) 10 (B) 15

(C) 20 (D) 13
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127. Gilt-edged Market means ________ .

(A) Market of Government securities (B) Gold Market

(C) Bullion Market (D) Metal Market

128 In case of zero-rated goods, input tax credit is ________, whereas in case of exempted goods,
input tax credit is ________ .

(A) allowed, allowed (B) allowed, not allowed

(C) not allowed, not allowed (D) not allowed, allowed

129. Under proposed GST Law, which of the following supplier is eligible for Composition Scheme?

(A) Supplier who supplies goods or services within the State and having turnover within the
specified limit

(B) One who supplies beauty parlour service

(C) One who is engaged in making inter-state outward supplies of goods.

(D) One who supplies goods through an electronic commerce operator

130. For determining Assessable Value of imported goods for the purpose of Customs Duty, Landing
Charges are always calculated at 1% of ________ .

(A) FOB Value (B) C&F Value

(C) CIF Value (D) None of the above

131. Which exchange rate is considered for the calculation of assessable value for customs duty
purpose?

(A) Exchange rate fixed by SBI (B) Exchange rate fixed by RBI

(C) Exchange rate notified by CBEC (D) None of the above

132. Under which Act is electricity duty levied in Gujarat?

(A) Gujarat Electricity Duty Act, 1961 (B) Gujarat Electricity Duty Act, 2003

(C) Gujarat Electricity Duty Act, 1964 (D) Gujarat Electricity Duty Act, 1958

133. How can the input tax credit of IGST be utilised in accordance with the provisions of Central
Goods and Services Act, 2017?

(A) Only for paying SGST

(B) Only for paying SGST or CGST

(C) For paying IGST and then if there is surplus for payment of CGST and then if there is
surplus for payment of SGST

(D) Only for paying IGST

134. In terms of provisions of section 39(1) of the Central Goods and Services Tax Act, 2017 [CGST
Act], last date for filing monthly return is ________ the day of the succeeding month. Such
return is to be filed in Form GSTR-3.

(A) 10 (B) 15

(C) 20 (D) 13
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135. IGSTLkk fkÞËkLke òuøkðkE {wsçk òu fkuE ÔÞÂõík yktíkh-hkßÞ ÃkqhðXku Mk{SLku RLxeøkúuxuz xuûk ¼he Ëu yLku ÃkkA¤Úke
yuðwt Lk¬e ÚkkÞ fu íku hkßÞ{kt s ÚkÞu÷ ÃkqhðXku Au íkku sYhe þhíkkuLku ykÄeLk ¼hu÷ RLxeøkúuxuz xuûkLkwt heVtz {¤e þfu Au. yk
Mktòuøkku{kt íkuýu ............ ¼hðkLke sðkçkËkhe Úkþu Lknª.

(A) xuûk (B) ÔÞks

(C) CGST yLku SGST (D) CGST yLku UTGST

136. fuLÿeÞ ykçkfkhe sfkík ¼hðkLke sðkçkËkhe Mkk{kLÞ heíku ............ Lke ÚkkÞ Au.

(A) {k÷Lkwt ÃkwLk:ðu[ký fhLkkh (B) Mkuðk ykÃkLkkh

(C) WíÃkkËf (D) {[oLx yuõMkÃkkuxoh

137. Lke[uLkk Ãkife fÞk íkhtøkkuLku W»{k íkhtøkku íkhefu yku¤¾ðk{kt ykðu Au ?

(A) ûk-rfhýku (B) RL£khuz

(C) {kR¢kuðuð (D) yÕxÙkðkÞku÷ux

138. ®ÍSçkh MÞwzku MðkuhkuMk{ (Zingiber Pseudo Squarrosum) þwt Au ?

(A) Íktrsçkkh xkÃkw Ãkh {¤e ykðu÷ Lkðe {kLkð ykrËòrík

(B) Íktrsçkkh xkÃkw Ãkh {¤e ykðu÷ ykËwLke Lkðe «òrík

(C) yktËk{kLk-rLkfkuçkkh Ãkh {¤e ykðu÷ Lkðe {kLkð ykrËòrík

(D) yktËk{kLk-rLkfkuçkkh Ãkh {¤e ykðu÷ ykËwLke Lkðe «òrík

139. ç÷w yuh (Blue Air) þwt Au ?

(A) RMkhku îkhk çkLkkðkÞu÷ MkkiÚke n¤ðku ÃkËkÚko

(B) RMkhku îkhk çkLkkðkÞu÷ yuf «fkhLkwt ykuÂõMksLk ðkÞwLkwt fLxuELkh

(C) LkkMkk îkhk çkLkkðkÞu÷ MkkiÚke n¤ðku ÃkËkÚko

(D) WÃkhkuõík yufÃký Lknª

140. LkkLkk yktíkhzk{ktÚke rLk{koý Úkíkku “÷ufxuÍ” Lkk{Lkku Ãkk[fhMk “ø÷wfkuÍ”Lkwt þk{kt YÃkktíkh fhu Au ?

(A) Mkw¢kuÍ (Sucrose) (B) £wfxkuÍ (Fructose)

(C) øku÷uõxkuÍ (Galactose) (D) ø÷eMkuhku÷ (Glycerol)

141. Lke[u ykÃku÷k rðÄkLkku [fkMke íkuLke Lke[u yÃku÷k rðfÕÃkku{ktÚke Mkk[ku sðkçk ykÃkku.

1. økkuExh (Goitre) Lkku hkuøk ¾kuhkf{kt ykÞkurzLkLke WýÃkÚke ÚkkÞ Au.

2. yk hkuøk{kt ÚkkEhkuEz økútrÚkLkku ykfkh yMkkÄkhý heíku {kuxku ÚkkÞ Au.

(A) rðÄkLk 1 Mkk[wt Au. (B) rðÄkLk 2 ¾kuxwtwt Au.

(C) rðÄkLk 1 yLku 2 ¾kuxkt Au. (D) rðÄkLk 1 yLku 2 Mkk[k Au.

142. fk÷k-yòh (Kala-ajar) Lkk{Lkku hkuøk þhehLkk fÞk ytøk Ãkh yMkh fhu Au ?

(A) {øks (B) yktíkhzwt

(C) çkkuLk{uhku (D) ÷eðh

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



ACT-02 - A ] 33 P.T.O.

135. In terms of provisions of IGST Act, if a person has paid integrated tax (IGST) on a supply
considered by him to be an inter- State supply, but which is subsequently held to be an
intra-State supply, he shall be granted refund of the amount of integrated tax so paid subject
to satisfaction of required conditions. Under these circumstances, he will not be required to
pay ________ .

(A) Tax (B) Interest

(C) CGST and SGST (D) CGST and UTGST

136. Usually, person liable to pay excise duty is a ________ .

(A) Reseller of goods (B) Service provider

(C) Manufacturer (D) Merchant exporter

137. Which of the followings are called ‘Heat Waves’ ?

(A) X-rays (B) Infrared waves

(C) Microwaves (D) Ultraviolet waves

138. What is Zingiber Pseudosquarrosum ?

(A) A new human tribe found on the Zanzibar island.

(B) A new species of ginger found on the Zanzibar island.

(C) A new human tribe found on the Andaman-Nicobar islands.

(D) A new species of ginger found on the Andaman-Nicobar islands.

139. What is ‘Blue Air’

(A) The lightest object developed by the ISRO

(B) An oxygen container developed by ISRO

(C) The lightest object developed by the NASA

(D) None of the above

140. What does the lactase enzyme which is produced in the small intestine and which is useful in
digestion, turns glucose into ?

(A) Sucrose (B) Fructose

(C) Galactose (D) Glycerol

141. Read the following statements and choose correct answer from options given below.

1. Goitre is caused by the Iodine deficiency in food.

2. In this disease, there is exessive enlargement of the thyroid gland.

(A) Statement 1 is true (B) Statement 2 is false

(C) Statements 1 and 2 are false (D) Statements 1 and 2 are true

142. Which part of the body does the disease of ‘Kala Ajar’ affect ?

(A) Brain (B) Instestine

(C) Bone marrow (D) Liver
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143. yuf ykIMk (Ounce) çkhkçkh fux÷k økúk{ ÚkkÞ ?

(A) 25 økúk{ (B) 28 økúk{

(C) 28.25 økúk{ (D) 28.35 økúk{

144. LkuþLk÷ yuhkuLkkuxeõMk ÷uçkkuhuxheÍ, çkUø÷kuh îkhk «Úk{ MkwÃkh fkuBÃÞwxh rðfMkkððk{kt ykðu÷ íkuLkwt Lkk{ þwt níkwt ?

(A) PACE (B) CHIPP-16

(C) FLO SOLVER (D) MACH

145. çkkÕVk¢{ (Balphakram) LkuþLk÷ Ãkkfo õÞkt ykðu÷ Au ?

(A) {u½k÷Þ (B) Ãkrù{ çktøkk¤

(C) fuhk÷k (D) íkkr{÷Lkkzw

146. MkuLxÙ÷ ÷u«Mke xÙuLkªøk yuLz heMk[o RLMxexâqx õÞkt ykðu÷e Au ?

(A) rËÕne (B) f÷f¥kk

(C) niÿkçkkË (D) [Uøkk÷Ãkèw

147. 4G Mku÷ VkuLk{kt LTE xufLkku÷kuS ðÃkhkÞ Au. LTE yux÷u -

(A) Lightening Technology Engineering (B) Long Term Evolution

(C) Liberal Technology Evalution (D) Local Technology Evolution

148. íkksuíkh{kt fÞk hkßÞ{ktÚke “Ãkefk” Lkk{Lke MíkLkÄkhe «kýeLke Lkðe «òrík {¤e ykðe Au ?

(A) rçknkh (B) {ýeÃkwh

(C) rMk¬e{ (D) Ãkrù{ çktøkk¤

149. ¼khík îkhk s{eLkÚke nðk{kt «ûkuÃký ÚkLkkhe r{MkkE÷ çkhkf-8 (Barak-8) fÞk Ëuþ MkkÚkuLkk òuzkýÚke (Collaboration)

rðfMkkððk{kt ykðe Au ?

(A) hrþÞk (B) RÍhkÞu÷

(C) rçkúxLk (D) Þw.yuMk.yu.

150. yuVyu{ økkuÕz [uLk÷ (FM Gold Channel) Lke[u Ãkife fÞk þnuh{kt LkÚke ?

(A) rËÕne (B) {wtçkE

(C) ÷wrÄÞkýk (D) çkUø÷kuh

151. zeze LÞqÍ [uLk÷ (DD News Channel) nk÷ fux÷e ¼k»kk{kt Mk{k[kh «Mkkrhík fhu Au ?

(A) [kh (B) ºký

(C) çku (D) A

152. E-Waste (Management and Handling) Rules Mkhfkh îkhk fÞk ð»koÚke y{÷e çkLkkððk{kt ykÔÞk ?

(A) R.Mk. 2008 (B) R.Mk. 2009

(C) R.Mk. 2010 (D) R.Mk. 2012
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143. 1 ounce equals to how many grams ?

(A) 25 grams (B) 28 grams

(C) 28.25 grams (D) 28.35 grams

144. What was the name of the first super computer developed by the National Aeronautics Laboratory,
Bangaluru ?

(A) PACE (B) CHIPP-16

(C) FLO SOLVER (D) MACH

145. In which state is ‘Balphakram National Park’ located ?

(A) Meghalaya (B) West Bengal

(C) Kerala (D) Tamilnadu

146. Where is ‘Central Leprosy Training and Research Institute’ located ?

(A) Delhi (B) Kolkata

(C) Hyderabad (D) Chengalpattu

147. What is LTE, a technology used in the 4G cell phones ?

(A) Lightening Technology Engineering (B) Long Term Evolution

(C) Liberal Technology Evolution (D) Local Technology Evolution

148. In which state, a new mamal species called ‘picca’ has recently been found ?

(A) Bihar (B) Manipur

(C) Sikkim (D) West Bengal

149. In collaboration with which country has India developed the surface to air missile ‘Barak-8’ ?

(A) Russia (B) Israel

(C) Britain (D) U.S.A.

150. Which of the following cities does not have FM Gold channel ?

(A) Delhi (B) Mumbai

(C) Ludhiana (D) Bengaluru

151. Currantly, in how many languages, does the DD News Channel telecast the news ?

(A) Four (B) Three

(C) Two (D) Six

152. From which year the E-waste (Management and Handling) Rules, laid down by the government,
came into force ?

(A) 2008 (B) 2009

(C) 2010 (D) 2012
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153. LkuþLk÷ ykuÃxef÷ VkEçkh Lkuxðfo (NOFN) ÞkusLkkLkku ykþÞ -

(A) çkÄe s þiûkrýf MktMÚkkykuLku LkuxðfoÚke òuzðkLkku Au.

(B) çkÄe s 2,50,000 Ãkt[kÞíkkuLku LkuxðfoLkwt òuzký ykÃkðkLkku Au.

(C) çkÄk s rsÕ÷kykuLku R÷uõxÙkurLkõMk rsÕ÷k çkLkkððkLkku Au.

(D) Mkk{kLÞ ÔÞÂõíkLku íkuykuLku rðrðÄ ÞkusLkk nuX¤ {¤íkk ÷k¼kuLke òýfkhe ykÃkðkLkku Au.

154. ¼khík Mkhfkh îkhk ÃkÞkoðhý MktçktrÄík rþûký, òøk]rík yLku íkk÷e{ (Environmenal Education, Awareness and

Training) «kuøkúk{Lke þYykík fÞk ð»koÚke fhðk{kt ykðu÷ Au ?

(A) R.Mk. 1983-84 (B) R.Mk. 1986-87

(C) R.Mk. 1990-91 (D) R.Mk. 1991-92

155. Äe LkuþLk÷ MkkÞçkh rMkõÞkuhexe Ãkkur÷Mke fÞk ð»ko{kt ònuh fhðk{kt ykðe ?

(A) R.Mk. 2003 (B) R.Mk. 2010

(C) R.Mk. 2012 (D) R.Mk. 2013

156. 1,  6,  21,  66,  ............ .

(A) 135 (B) 111

(C) 201 (D) WÃkh Ãkife yufÃký Lknª

157. 676 ? 57 114¸ ´ =

(A) 13 (B) 15

(C) 26 (D) 21

158. yuf çkMk ºký f÷kf{kt 150 rf{eLkwt ytíkh fkÃku Au yLku ykøk¤Lkk çku f÷kf{kt «rík f÷kf 60 rf{eLke ÍzÃku {wMkkVhe fhu
Au. çkMkLke «rík f÷kfLke Mkhuhkþ ÍzÃk fux÷e Au ?

(A) 60 rf{e / «rík f÷kf (B) 54 rf{e / «rík f÷kf

(C) 72 rf{e / «rík f÷kf (D) 52 rf{e / «rík f÷kf

159. Ëw»fk¤ hkník ¼tzku¤{kt rðãkÚkeoykuyu fw÷ YrÃkÞk 17,424 Lke hf{Lkku Vk¤ku ykÃÞku. Ëhuf rðãkÚkeoyu sux÷e MktÏÞk{kt
Akufhkyku níkk, íkux÷e hf{Lkku Vk¤ku ykÃÞku, íkku rðãkÚkeoykuLke MktÏÞk fux÷e nþu ?

(A) 102 (B) 122

(C) 112 (D) 132

160. òu + Lku ¸, ¸ Lku ´ yLku ́  Lku + íkhefu økýðk{kt ykðu íkku 64 + 8 ´ 32 ¸ 4 = ............

(A) 136 (B) 144

(C) 160 (D) 128

161. DAUGHTER þçËLku çkkhkûkhe ¢{{kt (Alphabetical Order){kt økkuXððk{kt ykðu íkku íku{ktLkk fux÷k yûkhku çkËÕÞk
rMkðkÞ ÞÚkkðík hnu Au ?

(A) yuf (B) çku

(C) ºký (D) WÃkh Ãkife yufÃký Lknª
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153. The objective of the National Optical Fibre Network - NOFN is to ________ .

(A) connect all educational institutions through a network.

(B) provide internet connectivity to all 2,50,000 panchayats.

(C) make all districts the electronics districts.

(D) provide information to the common man about the benefits of various schemes.

154. From which year, the Government of India, start the ‘Environmental Education, Awareness
and Training Programme’ ?

(A) 1983-84 (B) 1986-87

(C) 1990-91 (D) 1991-92

155. When was the cyber security policy announced ?

(A) in 2003 (B) in 2010

(C) in 2012 (D) in 2013

156. 1,  6,  21,  66,  ________

(A) 135 (B) 111

(C) 201 (D) None of the above

157. 676       ?      57 114¸ ´ =

(A) 13 (B) 15

(C) 26 (D) 21

158. A bus travels the distance of 150 kms in 3 hours. For the next 2 hours, its speed is 60 km/h. What
would be the everage speed of the bus per hour ?

(A) 60 km/h (B) 54 km/h

(C) 72 km/h (D) 52 km/h

159. In a Drought Relief Fund, a group of students contributed Rs. 17,424. If the contribution of each
student equalled tothe total number of students in the group, what would be the total number of
students in the group ?

(A) 102 (B) 122

(C) 112 (D) 132

160. If + is ¸, ¸ is ´ and ´ is +, then 64 + 8 ´ 32 ¸ 4 = ________ .

(A) 136 (B) 144

(C) 160 (D) 128

161. If all the letter of the word ‘DAUGHTER’ are arranged in an alphabetical order, how many
letters will retain their same positions ?

(A) One (B) Two

(C) Three (D) None of the above
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162. yuf ÔÞÂõíkyu çkUf{kt YrÃkÞk 2500 s{k fhkÔÞk yLku Lkð {kMk çkkË íku{ktÚke Yk. 1500 WÃkkze ÷eÄk. yuf ð»koLkk ytíku
12% Lkk Ëhu fw÷ ÔÞks íkuLku fux÷wt {¤þu ?

(A) YrÃkÞk 225 (B) YrÃkÞk 250

(C) YrÃkÞk 275 (D) YrÃkÞk 255

163. yuf ðøko¾tz{kt 25 AkufhkykuLkwt Mkhuhkþ ðsLk 48 rf÷kuøkúk{ Au. 40 rðãkÚkeoykuLkk ðøko¾tz{kt Mkhuhkþ ðsLk 45 rf÷kuøkúk{
Au. íkku yk ðøko¾tz{kt 15 AkufheykuLkwt Mkhuhkþ ðsLk fux÷wt ÚkkÞ ?

(A) 40 rføkúk (B) 36 rføkúk

(C) 38 rføkúk (D) 42 rføkúk

164. «ríkrËLk ykX f÷kf «{kýu Ãkkt[ rËðMk{kt 4 {sqhku YrÃkÞk 280 Lke {sqhe {u¤ðu Au. òu 12 {sqhku 4 rËðMk 2 f÷kf
«{kýu fk{ fhu íkku íkuyku fux÷e hf{Lke {sqhe {u¤ðþu ?

(A) YrÃkÞk 166 (B) YrÃkÞk 170

(C) YrÃkÞk 168 (D) YrÃkÞk 172

165. A, B, C ðå[u LkVku yuðe heíku ðnU[ðk{kt ykðu Au fu A Lku {¤u÷ Ëh yuf YrÃkÞkLke Mkk{u B ÃkkMku 65 ÃkiMkk yLku C ÃkkMku 40

ÃkiMkk {¤u. òu C Lkk ¼køku 8 YrÃkÞk ykðu÷ nkuÞ íkku fw÷ LkVkLke hf{ fux÷e nkuÞ ?

(A) YrÃkÞk 41 (B) YrÃkÞk 46

(C) YrÃkÞk 40 (D) YrÃkÞk 35

166. çku ÔÞÂõíkyku A yLku B Lke ykðfLkku økwýku¥kh 3:2 Au, íku{Lkk ¾[oLkku økwýku¥kh 5:3 Au. òu íku Ëhuf YrÃkÞk 2000Lke çk[ík
fhíkk nkuÞ íkku çktLkuLke ykðfLkku Mkhðk¤ku fux÷ku ÚkkÞ ?

(A) YrÃkÞk 21,000 (B) YrÃkÞk 23,000

(C) YrÃkÞk 20,000 (D) YrÃkÞk 22,000

167. òu Yk. 450 Lkk ¼kðu ¾heËu÷ y{wf ðMíkwyku{ktÚke yuf ík]íkeÞktþ ðMíkwyku 10% Lkk LkwfþkLku ðu[ðk{kt ykðu Au. íkku çkkfeLke
ðMíkwyku fux÷k xfk LkVkyu ðu[ðe òuEyu fu suÚke yk çktLku ðu[ký-ÔÞðnkhku{ktÚke yk¾hu 20% LkVku ÚkkÞ ?

(A) 30% (B) 32%

(C) 35% (D) 31%

168. 45.5625  = ________ .

(A) 5.35 (B) 5.45

(C) 6.35 (D) 6.75

169. Yk. 2500 Lkwt 6% Lkk Ëhu íkk. 5 òLÞwykheÚke 31 {u, 1999 MkwÄeLkwt ÔÞks fux÷wt ÚkkÞ ?

(A) YrÃkÞk 60 (B) YrÃkÞk 72

(C) YrÃkÞk 76 (D) YrÃkÞk 80

170. yuf xktfe{kt çku Lk¤ Au. yk çktLku Lk¤Úke yLkw¢{u 6 f÷kf yLku 4 f÷kf{kt xktfe ¼hkÞ Au. òu yk çktLku Lk¤ yufe MkkÚku 1
f÷kf y™u 30 r{rLkx MkwÄe [k÷w hk¾ðk{kt ykðu íkku xktfeLkku fux÷ku ¼køk ¼hkÞ ?

(A) 
3

5
(B) 

5

6

(C) 
5

8
(D) 

3

8
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162. A person deposited Rs. 2,500 in his bank account and after 9 months, withdrew Rs. 1,500. How
much interest he will earn at the end of one year if the rate of interest is 12% p.a. ?

(A) Rs. 225 (B) Rs. 250

(C) Rs. 275 (D) Rs. 255

163. In a class of 40 students, the average weight of the students is 45 kg. If the average weight of the
boys is 48 kg, what will be the average weight of the 15 girls ?

(A) 40 kg (B) 36 kg

(C) 38 kg (D) 42 kg

164. If four workers work for 8 hours/day for five days and get Rs. 280 collectively, what amount will
twelve workers get if they work for 2 hours/day for four days ?

(A) Rs. 166 (B) Rs. 170

(C) Rs. 168 (D) Rs. 172

165. A, B and C share the profit in the ratio of 1 : 0.65 : 0.40. If C gets Rs. 8, what would be the total
amount of profit ?

(A) Rs. 41 (B) Rs. 46

(C) Rs. 40 (D) Rs. 35

166. A and B have the income ratio of 3 : 2 while their expenditure is in the ratio of 5 : 3. If they save
Rs. 2,000 each, what will be the total of the income of both A and B ?

(A) Rs. 21,000/- (B) Rs. 23,000/-

(C) Rs. 20,000/- (D) Rs. 22,000/-

167. If one-third of the items that were purchased at Rs. 450 are sold at a loss of 10% at what % of
profit, the remaing items should be sold in order to earn 20% profit at the end of the complete
deal ?

(A) 30% (B) 32%

(C) 35% (D) 31%

168. 45.5625  = ________ .

(A) 5.35 (B) 5.45

(C) 6.35 (D) 6.75

169. What would be the amount of interest of Rs. 2,500 from January 5 6o May 31, 1999 @ 6%.

(A) Rs. 60 (B) Rs. 72

(C) Rs. 76 (D) Rs. 80

170. There are two taps in a tank. They can fill up the tank completaly in 6 and 4 hours respectively.
How much part of the tank would be filled up if both the taps are kept open for 1 hour and 30
minutes ?

(A) 
3

5
(B) 

5

6

(C) 
5

8
(D) 

3

8
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171. (3.6 ´ 103) ¸ (9 ´ 10–2) = ________ .

(A) 4 ´ 105 (B) 4 ´ 104

(C) 40 (D) 4 ´ 10–3

172. yuf ðøko¾tz{kt AkufhkykuLke Mkhuhkþ ô{h íku ðøko¾tz{ktLke AkufheykuLke MktÏÞkÚke çk{ýe Au. òu 36 Lkk ðøko¾tz{kt Akufhk
yLku AkufheykuLkku økwýku¥kh 5:1 nkuÞ íkku íku ðøko¾tzLkk AkufhkykuLke fw÷ ô{h fux÷e nþu ?

(A) 320 ð»ko (B) 340 ð»ko

(C) 360 ð»ko (D) 430 ð»ko

173. Lke[u ykÃku÷ ½rzÞk¤ku{kt “?”Lke søÞkyu fÞku Mk{Þ ykðu ?

3:13 3:55 4:37 ?2:31
1 5432

(A) 5:19 (B) 5:49

(C) 5:29 (D) 5:39

174. Äe fkWÂLMk÷ Vkuh MkkÞLxeVef yuLz RLzMxÙeÞ÷ rhMk[o (CSIR) îkhk BGR-34 Lkk{Lke ykÞwðuorËf Ëðk þY fhðk{kt
ykðu÷ Au. yk Ëðk fÞk hkuøkLku MktçktrÄík Au ?

(A) ÷kuneLkwt Ëçkký (B) fuLMkh

(C) yuEzTÍ (D) zkÞkrçkxeMk

175. [eLk îkhk þkt½kE-fwLk{ªøk MxuþLku òuzíke rðïLke ÍzÃke økíke Ähkðíke çkw÷ux xÙuELk [k÷w fhðk{kt ykðu÷ Au. yk hu÷ðu
{køkoLkwt fw÷ ytíkh fux÷k rf÷ku{exh Au ?

(A) 2298 rf{e (B) 2250 rf{e

(C) 2252 rf{e (D) 2255 rf{e

176. ÷ðkË ÃkØrík (Arbitration System)Lke Mk{eûkk íkÚkk MktMÚkkøkík {k¤¾kLke h[Lkk {kxu ¼khík Mkhfkh îkhk íkksuíkh{kt
fkuLkk yæÞûkÃkýk nuX¤ yuf Wå[MíkheÞ fr{xeLke h[Lkk fhu÷ Au ?

(A) ©e çke. yuLk. ©er¢»Lkk (B) ©e ykh. çkk÷f]»ýLLk

(C) ©e Mkwhuþ [Lÿk (D) WÃkh Ãkife yufÃký Lknª

177. rzMkuBçkh 2016{kt LÞqÍe÷uLzLkk ðzk«ÄkLk íkhefu çke÷ $ø÷eþLke rLk{ýqf ÚkÞu÷ Au. íkuykuLke Ãknu÷k LÞqÍe÷uLzLkk ðzk«ÄkLk
íkhefu fkuý níkwt ?

(A) r{Mxh rÃkxh økwzVu÷ku (B) r{Mxh ßnkuLk fe

(C) r{Mxh Ãkki÷ çkuLkux (D) WÃkh Ãkife yufÃký Lknª

178. 8 òLÞwykhe 2017{kt huÃkku hux íkÚkk rhðMko huÃkku hux yLkw¢{u þwt níkkt ?
(A)  6.10%,  5.50% (B)  6.25%,  5.50%

(C)  6.25%,  5.75% (D)  6.50%,  5.75%

179. rzMkuBçkh, 2016{kt çktøkk¤Lkk y¾kík{kt Indra Navy 2016 Lkwt LkkiMkuLkkLkwt yÇÞkMk yr¼ÞkLk Þkusðk{kt ykðu÷ níkwt,
íku{kt fux÷k Ëuþ òuzkÞu÷ níkk ?

(A) çku (B) ºký

(C) Ãkkt[ (D) [kh
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171. (3.6 ´ 103) ¸ (9 ´ 10–2) = ________ .

(A) 4 ´ 105 (B) 4 ´ 104

(C) 40 (D) 4 ´ 10–3

172. In a class of 36 students, the average age of the boys is the twice the number of girls in the class.
If the ratio of the boys and the girls in the class is 5 : 1, what would be the total age of the boys of
the class ?

(A) 320 years (B) 340 years

(C) 360 years (D) 430 years

173. What time will the fifth clock show ?

3:13 3:55 4:37 ?2:31
1 5432

(A) 5.19 (B) 5.49

(C) 5.29 (D) 5.39

174. The ayurvedic medicine ‘BGR-34’ which is developed by ‘The Council for Scientific and Industrial
Research’ - CSIR, is prescribed for which of the followings ?

(A) Blood Pressure (B) Cancer

(C) AIDS (D) Diabetes

175. What is the distance of the railway root linking Shanghai and Kunming through the world’s
fastest train service started by China ?

(A) 2298 kms (B) 2250 kms

(C) 2252 kms (D) 2255 kms

176. Who is the chairman of the high level committee setup by the Government of India for evaluation
and structure formation the Arbitration System ?

(A) Shri B. N. Srikrishna (B) Shri R. Balakrishnan

(C) Shri Suresh Chandra (D) None of the above

177. Who was the Prime Minister of New Zealand before Mr. Bill English assumed the office in
December 2016 ?

(A) Mr. Peter Goodfellow (B) Mr. John Key

(C) Mr. Paul Bannett (D) None of the above

178. What were the Repo Rate and Reverse Repo Rate respectively in January 2017 ?

(A)  6.10%,  5.50% (B)  6.25%,  5.50%

(C)  6.25%,  5.75% (D)  6.50%,  5.75%

179. How many countries participated in the ‘Indra Navy 2016’, the maritime exercise held in
December 2016 in the Bay of Bangal ?

(A) Two (B) Three

(C) Five (D) Four
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180. Lke[u ykÃku÷k rðÄkLkku [fkMke íkuLke Lke[u yÃku÷k rðfÕÃkku{ktÚke Mkk[ku sðkçk ykÃkku.

          1. ð»ko 2016Lkk «ríkrcík zkp. çke. Mke. hkuÞ ÃkwhMfkh {kxu zkp. Ãke. h½whk{Lke ÃkMktËøke ÚkÞu÷ Au.

          2. ËuþLkwt Ãknu÷wt {Õxe MÃkkuxTMko BÞwrÍÞ{ fku÷fíkk{kt þY ÚkÞu÷ Au, suLkwt WËT½kxLk Mkr[Lk íkUzw÷fh yLku Mkkihð
               økktøkw÷eLkk ðhËnMíku ÚkÞu÷ Au.

(A) rðÄkLk 1 Mkk[wt Au. (B) rðÄkLk 2 Mkk[wt Au.

(C) rðÄkLk 1 yLku 2 ¾kuxkt Au. (D) rðÄkLk 1 yLku 2 Mkk[k Au.

181. “hk»xÙeÞ yu{.yuMk.yu{.E. Wíf]üíkk ÃkwhMfkh 2017”Lkku yìðkuzo fE çkUfLku «kÃík ÚkÞu÷ Au ?

(A) fkuÃkkuohuþLk çkUf (B) ykE.Mke.ykE.Mke.ykE. çkUf

(C) yuMk.çke.ykE. (D) rðsÞk çkUf

182. f - ÞkËeLku  ¾ - ÞkËe MkkÚku òuzeLku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

f ¾ 

(a)  ¼khíkeÞ SðLk ðe{k rLkøk{Lkk yæÞûk (1)  ðeh÷ çke. yk[kÞo

(b)  ¼khíkeÞ rhÍðo çkUfLkk zuÃÞwxe økðLkoh (2)  rð¢{ r÷{Þu

(c)  LkuþLk÷ Mxkuf yuõMk[uLsLkk {uLkuStøk zehuõxh yLku [eV yuõSõÞwxeð ykurVMkh (3)  yrLk÷ ÄM{kLkk
(d)  rhMk[o yuLz yuLkk÷exef÷ ðªøkLkk yæÞûk (4)  ðe. fu. þ{ko

(A)  a - 4,   b - 2,   c - 1,   d - 3 (B)  a - 3,   b - 4,   c - 2,   d - 1

(C)  a - 4,   b - 1,   c - 2,   d - 3 (D)  a - 2,   b - 3,   c - 1,   d - 4

183. y{urhfkLkk 45{k hk»xÙÃkrík íkhefu zkuLkkÕz xÙBÃkLku, íkuykuLkk ÃkËLkk þÃkÚk fkuýu ÷uðzkðu÷ níkk ?

(A) ßnkuLk hkuçkxTMko (John Roberts) (B) xku{ «kEMk

(C) R÷iLk [kyku (D) WÃkh Ãkife yufÃký Lknª

184. ¼khík yLku ÃkkrfMíkkLk îkhk ÃkkuíkkLkk Ãkh{kýw «ríkckLkkuLke ÞkËeLkwt ykËkLk-«ËkLk Mkki«Úk{ õÞkhu ÚkÞu÷ níkwt ?

(A) íkk. 1-1-1989 (B) íkk. 1-1-1990

(C) íkk. 1-1-1991 (D) íkk. 1-1-1992

185. fuLÞkLkk hk»xÙÃkrík òLÞwykhe, 2017{kt ¼khík Þkºk Ãkh ykðu÷ níkk, íkuyku Lke[u Ãkife fkuý níkk ?

(A) Ãkku÷ fkøkk{u (B) Wnhw fuLÞkíkk (Uhuru Kenyatta)

(C) yUxkurLkÞku fkuMxk (D) «®ðË søkLLkkÚk

186. hkush VuzhhLkk økúktz M÷i{ xurLkMkLkk fw÷ 18 r¾íkkçkku Ãkife £ktMkeMke ykuÃkLkLkk fux÷k r¾íkkçkku {¤u÷ Au ?

(A) Ãkkt[ (B) Mkkík

(C) yuf (D) ºký

187. MkuhuLkk rðr÷ÞBMku fw÷ fux÷k økúktz M÷i{ r¾íkkçkku {u¤ðu÷ Au ?
(A) 23 (B) 22

(C) 18 (D) 24

188. hýS xÙkuVe{kt MkkiÚke ðÄw hLk fhðkLkwt ©uÞ fkuLku Vk¤u òÞ Au ?

(A) yuMk. {tshufh (B) ðe. {[oLx

(C) [uíkuïh Ãkwòhk (D) çke. çke. rLkBçkk÷fh
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180. Read the following statements and choose correct answer from options given below.

1. Dr. P. Raghuram has been selected for the prestigious Dr. B. C. Roy Award for 2016.

2. India’s first Multi-sports Museum was inaugurated jointly by Sachin Tendulkar and
       Saurav Ganguly in Kolkata.

(A) Statement 1 is true (B) Statement 2 is true

(C) Both the statements are false (D) Both the statements are true

181. Which Bank received the ‘National MSME Excellence Award - 2017’ ?

(A) Corporation Bank (B) ICICI Bank

(C) SBI (D) Vijaya Bank

182. Choose correct option for the correct matching of the followings.

A  B

 (a)  Chairman of the LIC  (1)  Viral V. Acharya

 (b)  Dy. Governor of the RBI   (2)  Vikram Limaye

 (c)  MD & CEO of the NSE  (3)  Anil Dhasmana

       (d)  Chief of the RAW        (4)  V. K. Sharma

(A)  a - 4,   b - 2,   c - 1,   d - 3 (B)  a - 3,   b - 4,   c - 2,   d - 1

(C)  a - 4,   b - 1,   c - 2,   d - 3 (D)  a - 2,   b - 3,   c - 1,   d - 4

183. Who administered the oath of office to Donald Trump, the 45th President of America ?

(A) John Roberts (B) Tom Price

(C) Elaine Chao (D) None of the above

184. When did India and Pakistan exchange the list of their respective nuclear establishments for the
very first time ?

(A) On 1-1-1989 (B) On 1-1-1990

(C) On 1-1-1991 (D) On 1-1-1992

185. Which of the following Presidents of Kenya visited India in January 2017 ?

(A) Paul Kagame (B) Uhuru Kenyatta

(C) Antonio Costa (D) Pravind Jugnauth

186. How many French Open titles is Tennis star Roger Federer holding in his tally of 18 Grand Slam
titles ?

(A) 5 (B) 7

(C) 1 (D) 3

187. Hown many Grand Slam titles has Serena Williams won in all ?

(A) 23 (B) 22

(C) 18 (D) 24

188. Who has scored the highest runs in the Ranji Trophy ?

(A) S. Manjarekar (B) V. Merchant

(C) Cheteshwar Pujara (D) B. B. Nimbalkar
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189. {rn÷kyku {kxu ð»ko 2016Lke “MkiV” (South Asia Football Federation) Vqxçkku÷ [uBÃkÞLkþeÃkLkku r¾íkkçk ¼khíku
{u¤ðu÷ Au. yk r¾íkkçk ¼khíku ÷økkíkkh fux÷k{e ð¾ík Síku÷ Au ?

(A) ºký (B) [kh

(C) çku (D) Ãkkt[

190. {wtçkE{kt òLÞwykhe - 17 {kt MktÃkLLk ÚkÞu÷ “MxkLzzo [kxozo {wtçkE {uhuÚkkuLk Ëkuz”{kt {rn÷k ðøko{kt fku÷ rðsuíkk ònuh
ÚkÞu÷ níkk ?

(A) [kÕxw íkkVk (B) rxrøkMx røkh{k

(C) çkkuLkuoMk rfíkwh (D) ßÞkurík økkðíku

191. ð»ko 2017Lkk «òMk¥kkf rËðMkLke Ãkhuz{kt swËk swËk hkßÞku îkhk hsq fhðk{kt ykðu÷ Íktfe{ktÚke fÞk hkßÞLke Íktfe
Mkðo©uc ÃkwhMfkh íkhefu ÃkMktË ÚkÞu÷ Au ?

(A) {nkhk»xÙ (B) økkuðk

(C) yYýk[÷ «Ëuþ (D) {æÞ«Ëuþ

192. ¼khík MkhfkhLkk zkf rð¼køk îkhk ÃkkÞ÷kux «kusuõx íkhefu fÞk çku þnuh{kt “Ãku{uLx çkUf”Lke þYykík fhðk{kt ykðe Au ?

(A) rËÕne yLku {wtçkE (B) {wtçkE yLku f÷f¥kk

(C) rËÕne yLku niÿkçkkË (D) hkÞÃkwh yLku hkt[e

193. zkp. «ku. yu¬k ÞuËrøkhe hkðLku ð»ko 2017 {kt ÃkÈ©e yìðkuzoÚke MkL{krLkík fhðk{kt ykðu÷ Au. íkuyku fÞk ûkuºk MkkÚku Mkt÷øLk
Au ?

(A) Mktøkeík (B) r[ºkf÷k

(C) {qŠíkf÷k (D) r[rfíMkk

194. MktÞwõík MkiLÞ yÇÞkMk - “yÇÞkMk RfwðurhLk”Lkwt ykÞkusLk rzMkuBçkh - 16 {kt ÚkÞu÷, íku{kt fÞk Ëuþku Mkk{u÷ níkk ?

(A) ¼khík yLku {k÷Ëeð (B) ¼khík yLku rçkúxLk

(C) ÃkkrfMíkkLk y™u [eLk (D) ÃkkrfMíkkLk yLku {k÷Ëeð

195. {rn÷k nkìfe swrLkÞh rðï fÃk 2016Lkku r¾íkkçk fkuLku {¤u÷ Au ?

(A) yksuoÂLxLkk (B) nku÷uLz

(C) ykuMxÙur÷Þk (D) MÃkuLk

196. {krníke {u¤ððk {kxuLke yhS{kt ºkeò ÃkûkfkhLkk rník Mk{kÞu÷kt nþu íkku yhS fÞkoLke íkkhe¾Úke fux÷k rËðMk MkwÄe{kt
{krníke ykÃkðkLke hnuþu ?

(A) 30 rËðMk (B) 35 rËðMk

(C) 40 rËðMk (D) 45 rËðMk

197. {krníke ({u¤ððkLkk) yrÄfkh yrÄrLkÞ{, 2005 nuX¤ ònuh Mk¥kk {tz¤u fw÷ fux÷k {wÆkykuLke rðøkíkku «fkrþík fhðkLke
nkuÞ Au ?

(A) 17 {wÆkyku (B) 16 {wÆkyku

(C) 18 {wÆkyku (D) 15 {wÆkyku

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



ACT-02 - A ] 45 P.T.O.

189. In 2016, for how many time did the Indian Women’s team win the SAFF championships in a
row ?

(A) 3rd (B) 4th

(C) 2nd (D) 5th

190. Who won the ‘Standard Chartered Mumbai Marathon’ in the women’s category in Januay
2017 ?

(A) Chaltu Tafa (B) Tigist Girma

(C) Bornes Kitur (D) Jyoti Gawte

191. Which of the following states won the prize for the best Tableau in the Republic Day Parade in
2017 ?

(A) Maharashtra (B) Goa

(C) Arunachal Pradesh (D) Madhya Pradesh

192. As a Pilot Project, in which of the following cities, has the Indian Post Department started the
Payment Bank ?

(A) Delhi and Mumbai (B) Mumbai and Kolkata

(C) Delhi and Hyderabad (D) Raipur and Ranchi

193. The Padmashree Awardee in 2017, Dr. Ekka Vedagiri is associated with which of the following
fields ?

(A) Music (B) Painting

(C) Sculpure (D) Medicine

194. Which countries participated in the military exercise ‘Ekuverin’ in December 2016 ?

(A) India and Maldives (B) India and Britain

(C) Pakistan and China (D) Pakistan and Maldives

195. Who won the Womens Hockey (Junior) World Cup Title in 2016 ?

(A) Argentina (B) Holland

(C) Australia (D) Spain

196. Under the RTI Act, in how many days from the date of the Application, the information must be
provided in case of the conflict of interest of the third party ?

(A) 30 days (B) 35 days

(C) 40 days (D) 45 days

197. Under the RTI Act, how many points in all are the public authorities required to publish ?

(A) 17 points (B) 16 points

(C) 18 points (D) 15 points
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198. RLxu÷esLMk (økwÃík[h) yLku Mk÷k{íke MktMÚkkykuLku {krníke ({u¤ððkLkk) yrÄfkh yrÄrLkÞ{Lke òuøkðkE ÷køkw Ãkzíke
LkÚke íku fE f÷{{kt ykÃkðk{kt ykðu÷ Au ?

(A) f÷{ - 7 (B) f÷{ - 8

(C) f÷{ - 9 (D) f÷{ - 24

199. {wÂõíkLke òuøkðkELku ykrÄLk ËMíkkðus{ktLke yktrþf {krníke ykÃke þfkÞ íkuðe òuøkðkE {krníke ({u¤ððkLkk) yrÄfkh,
yrÄrLkÞ{, 2005 Lke fE f÷{{kt Au ?

(A) f÷{ - 10 (B) f÷{ - 11

(C) f÷{ - 9 (D) f÷{ - 12

200. nk÷{kt MktþkuÄfkuyu Ÿzk yLku ÍzÃkÚke Mkkò Lk ÚkE þfu íkuðk ½k Lkk WÃk[kh {kxu fE ÚkuhkÃke rðfrMkík fhe Au ?

(A) Ã÷kÍ{k rn÷ªøk ÚkuhkÃke (B) fkuÕz Ã÷kÍ{k ÚkuhkÃke

(C) fkuÕz rn÷ªøk ÚkuhkÃke (D) WÃkh Ãkife yufÃký Lknª
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198. Which section of the RTI Act, stipulates that the provisions of the Act shall not apply to the
Intelligence and Security Agencies ?

(A) Section 7 (B) Section 8

(C) Section 9 (D) Section 24

199. Which section of the RTI Act, stipulates that, subject to the provisions of Examption, partial
information from the documents may be provided ?

(A) Section 10 (B) Section 11

(C) Section 9 (D) Section 12

200. Which therapy has recently been developed by the researchers to cure the deep wounds that
cannot be healed quickly ?

(A) Plasma Healing Therapy (B) Cold Plasma Therapy

(C) Cold Healing Therapy (D) None of the above
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